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General Abilityl
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Question Number : 1 Question Id : 54062619030 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the missing term in the following letter series.

A, D, I, Y
Options :

1. % L

2.¥P

3.% S

4. %V

Question Number : 1 Question Id : 54062619030 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fAafeRad s1&R g § Jud ug 1d B |

A, D, 1, , Y
Options :

1. % L

2.¥P

3.% S

4. %V

Question Number : 2 Question Id : 54062619031 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the missing term in the following series.

MO5, KRS, IU11 , GX14,
Options :

1. ¥ EA17

2. % DZ17

3. % EBI19

4. % AZ20

Question Number : 2 Question Id : 54062619031 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAafeRad g o du ug I1d &1 |

MO5, KRS, IU11, GX14,
Options :

1. ¥ EA17

2. % DZ17

3. #* EBI19




4. % AZ20

Question Number : 3 Question Id : 54062619032 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the wrong term in the the following series.

FIN, I8Q, L27T, O64W, U125A
Options :

1. * 18Q

2. % 064W

3. % L27T

4, ¥ UlI25A

Question Number : 3 Question Id : 54062619032 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRaa g | Tad ug I1d R

FIN, I8Q, L27T, O64W, U125A
Options :

1. #* 18Q

2. % 064W

3. % L27T

4. ¥ Ul25A

Question Number : 4 Question Id : 54062619033 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Arrange the terms in a meaningful sequence.

1. Crore
2. Lakh
3. Million



4. Thousand
5. Billion
6. Hundred

Options :

1. % 643215
2.9 642315
3. % 642135
4. % 641235

Question Number : 4 Question Id : 54062619033 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ysal 1 Aidh ol W HafRUd H1 |

1. 3RS
2.9

3. farfergm
4. §UR

5 faferg

6. T
Options :

1. ® 643215
2. ¥ 642315
3. #® 642135
4. ® 641235

Question Number : 5 Question Id : 54062619034 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :
1. * Snapdeal



2. % Amazon
3. % Instagram
4. ¥ Myntra

Question Number : 5 Question Id : 54062619034 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T e fawmed & 9 & T [y Rid 3 90 § | 810D, Uh [Aded 31 019 &1 dve ol ¢ | 34 [dded &1 T8 B oIl 37 I 3T 5|
Options :

1. % Judla

2. % YA

3. ¢ XM

4, % T

Question Number : 6 Question Id : 54062619035 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :

1. # Teacher : Student
2. # Doctor : Patients

3. % Lawyer : Criminal
4. ¥ Bank : Employee

Question Number : 6 Question Id : 54062619035 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu T fiwedl A @ & e Rfyd % T TuE 81 gTlTP, T faeed 3 diF ot aRE Tl o | 39 fdhed &1 I &Y oY 30 ¥ 3T B
Options :

1. % X8/ : 8

2. % fIfhcaes : M




3. % gopid ; qIeht
4.¢§$:$ﬁ€mﬁ

Question Number : 7 Question Id : 54062619036 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :
1. % IHJ
2. % XWY
3. ¥ MNO
4. # EDF

Question Number : 7 Question Id : 54062619036 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3T U fadenl & ¥ o Te i3 dRih 1 90 § | gTaliich, T [dahed o diF &1 TRE -Tal 6| 3% fadhed &I Ia- B off 30 J 3T |
Options :

1. % IHJ

2. ® XWY

3. ¥ MNO

4. % EDF

Question Number : 8 Question Id : 54062619037 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :
1. % HM
2.9 S7



3. % EJ
4. % 1Q

Question Number : 8 Question Id : 54062619037 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T T fawmed & 9 & T [y dRid 3 90 § | 810D, Uh [Aded 31 119 &1 dve ol ¢ | 34 [dded &1 I8 B Sl 3 I 3T 5|
Options :

1. = HM

2.¥ SZ

3. % EJ

4. % 1Q

Question Number : 9 Question Id : 54062619038 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first term.

Fish : Water :: Camel : ?
Options :

1. # Tree

2. ¥ Desert

3. # Island

4. % Forest

Question Number : 9 Question Id : 54062619038 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
39 fAdHeT BT T B S ik UG ¥ 341 UHR ¥ Yafdd g o JR ¥ 3R UG Ugd Ug ¥ Hafed g

ASal : O &e 2 2
Options :




1. % Us
2. AT
3. % glg

4. % ST

Question Number : 10 Question Id : 54062619039 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Three of the following pair of words are alike in a certain way and one is different. Pick the odd one out.
Options :

1. # Curd : Milk

2. # Wine : Grapes

3. % Seed : Oil

4. % Rubber : Latex

Question Number : 10 Question Id : 54062619039 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraforfed & 3 i wrsal & gm ve i a8 9 90 § iR U i B | faww wregi & g &1 99+ Siford |
Options :

1. % Ggl: gy

2. % YRS : 3R

3. ¢ &Sl dd

4, # W:W—&‘ﬁT

Question Number : 11 Question Id : 54062619040 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first term

AD:GJ::MP:?
Options :



1. ¥ SV
2. % JK
3. TW
4. = RU

Question Number : 11 Question Id : 54062619040 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 faded &1 79 & S R U ¥ I TSR T Taifdrd § o TR J g¥R1 S Ugd Ue § Yefid g

AD:GJ:: MP:?
Options :
1. ¥ SV
2. % JK
3. % TW
4. % RU

Question Number : 12 Question Id : 54062619041 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third word in the same way as the second word is related to the word.

Badminton : Court : : Skating :
Options :

1. * Ring

2. ¥ Rink

3. * Ground

4. % Track

Question Number : 12 Question Id : 54062619041 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



39 fAdh e T 9g-1 BT T Jai1g s U I RE U AT 8 o fgalid Wsg U9 g ¥ AT 3|
et . B¢ Wi

Options :
1. % £
2. v R
3. % U8
4. % CH

Question Number : 13 Question Id : 54062619042 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, if LOVE is coded as MPWF, then what will ENEMY be coded as?
Options :

1. ®* FHFOA

2. ¥ FOFNZ

3. ¥ FOFKX

4. % DMDKX

Question Number : 13 Question Id : 54062619042 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T (Af3d ®is U & afe LOVE & MPWF & &0 § ifed a1 a1 €, d ENEMY &1 & difed fobar Siam?
Options :

1. ¥ FHFOA

2. ¥ FOFNZ

3. % FOFKX

4. ¥ DMDKX

Question Number : 14 Question Id : 54062619043 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



In a certain code language:

"igu tam che" means some tasty fruits,
"tam nik fla" means some fresh vegetables,
"kir fla igu" means few tasty vegetables,
What is the code of " vegetables" ?

Options :
1. % kir
2. % igu
3.9 fla

4. % tam

Question Number : 14 Question Id : 54062619043 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"igu tam che" DI 31 § some tasty fruits,
"tam nik fla" bl G{Qf% some fresh vegetables,
"kir fla igu" T 3 Qf% few tasty vegetables,
ar "vegetables" & 1%112 AR %‘?

Options :

1. ® kir

2. % igu

3.4 fla

4. % tam

Question Number : 15 Question Id : 54062619044 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, BFGIK is coded as YUTRP, CEFXL is coded as XVUCO, then what will MUSIC be coded as ?
Options :

1. ¥ NFHRX



2. ® NFGRW
3. ¥ NGRFX
4. % NHFRX

Question Number : 15 Question Id : 54062619044 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U fAfYd ®Ig YW H, BFGIK &1 YUTRP & ¥U H $IfSd {1 T 8, CEFXL &Y XVUCO & =0 § difed a1 a1 g, df MUSIC &Y 5
Pifsd far Smem

Options :

1. ¢ NFHRX

2. % NFGRW

3. % NGRFX

4. % NHFRX

Question Number : 16 Question Id : 54062619045 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If in a certain code language, HUMANITY is coded as 72304816, LAUGHTER is coded as 20267148, then what will RELAXED be coded as?
Options :

1. % 8420345

2. % 8203456

3. % 8420543

4. % 8024385

Question Number : 16 Question Id : 54062619045 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe T A BIs UIWT &, HUMANITY &1 72304816 & 30 H difed {507 01 8, LAUGHTER &1 20267148 & 30 A difed fPar T g,
dl RELAXED &1 &3 Pifsd fomar S

Options :
1. % 8420345



2. ® 8203456
3. ¥ 8420543
4. % 8024385

Question Number : 17 Question Id : 54062619046 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Pointing to a photograph, Subham said, the lady in the picture is the daughter of the mother of my father's son. How is the lady related to
Subham?

Options :

1. ¥ Sister

2. % Cousin

3. % Mother

4. # Grandmother

Question Number : 17 Question Id : 54062619046 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS TR P1 3R IRT B §TIHA 3 g, TR 7 Ry Afean IR a1 & 9 &1 A1 &1 9t 31 a8 Wigen GuH I 9 afdrd g2
Options :

1. ¥ dg-

2. % TR B T

3. % HIdl

4. % QAN

Question Number : 18 Question Id : 54062619047 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A, B, C,D, E, F and G are sitting around a round table in the given order:

1) A is second to the left of G
i1) B is sitting just right of G
1i1) E is third from right to B



iv) F is to left of C

Then who is to the immediate right of A?
Options :

1.¥D

2. % E

3. G

4. % F

Question Number : 18 Question Id : 54062619047 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A,B,C,D,E, F 3R G et 7 & T Td A9 & MU 96 &

A, GPH TR ARITRJIFARE
ii) B, G & 31% gT3 R 9318

iii) E, B! g3 SR Y TR WM W 3
iv)F,C P13 3R &

dl A% 3l 18 AR A DM B?
Options :

1.¥D

2. % E

3. G

4, % F

Question Number : 19 Question Id : 54062619048 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A team of five is to be selected from amongst five women Anu, Varsha, Carolin, Deepa and Ekta and four men Punit, Rishab, Subham and
Tanmay. Some criteria for selection are:

Anu and Subham have to be together.
Punit cannot be put with Rishab.



Deepa and tanmay will never be in same team.
Carolin and Ekta are always in the same team.
Rishab cannot be with Varsha in the same team.

If Rishab be one of the members, the other members of the team are

Options :

1. % Punit, Subham, Anu, Deepa

2. % Subham, Anu, Carolin, Ekta

3. # Tanmay, Subham, Anu, Deepa
4. ¥ Tanmay, Subham, Carolin, Ekta

Question Number : 19 Question Id : 54062619048 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

qﬁﬂ%ﬁmgﬂaﬂf HRIfer, ST 3R TehaT 3R IR TN YA, B, JHA 3R T7070 § § Ui B T ¢IH &1 g1 ST ¢ | 70 & g
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Options :

1. % g, gy, o, diar

2. ¢ gHH, 3, HITCH, Thdl

3. % G, guH, S, <t

4. % JIAT, GHH, HATCH, ThdT

Question Number : 20 Question Id : 54062619049 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Read the following question carefully and then answer accordingly:



A, B, C, D, E are five friends.

A is younger than B but elder than E.
C is the eldest.

D is younger than B, but elder than A.

Which of the following options shows the ascending order of their ages?
Options :

1. * ADBEC

2. % AEDBC

3. ¥ EADBC

4. % DAEBC

Question Number : 20 Question Id : 54062619049 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafRed Uy & & J Ug SR fhR dedaR SW S

A,B,C,D,EUrE ffF gl

A, BIBIeIg AfbTE T TSI 8|
C gey §ST 3|

D, B Y BleT g, AfbT A T TSI R

FafaRed & I &1 91 fadhed 331 31 & SRIg! HH DI G 62
Options :

1. ¥ ADBEC

2. % AEDBC

3. ¥ EADBC

4. % DAEBC

General Ability2

Group Number : 2
Group Id : 540626725



Group Maximum Duration : 0

Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No

General Ability2

Section Id : 540626907
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 5406261096
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 54062619050 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In this question, three statements have been given followed by two conclusions numbered I and II. Assuming that all information in the statement

is true, analyse the two conclusions together and determine whether any of them logically and definitely follow(s) from the information given in
the statement.

Statement I: All fruits are good.
Statement I1: All good is bad.
Statement I1I: All bad are vegetables.

Conclusion:



I) All bad are fruits.
IT) Some vegetables are good.

Options :

1. % Only I follows

2. % Only II follows

3. % Both I and II follows
4. #* Neither I nor II follows

Question Number : 21 Question Id : 54062619050 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A YUY H, 0 By feU U B, S 91g, &l Fsas shiford 1 31 11 foU 78 8 1 98 A1d gU o ®u & 9uft SHe) 9 &, < sl
TH 1Y fazayur &3 3R HuiRa B fos 71 370 Q@ ®is 1 difches w0 ¥ 3R fAfYd ©0 ¥ H= § < 18 TSR] BT S8R0 a3l |

HYF 1. 9 B 3 B
S 11: T 3 TR Bl
Y 111: 94 WRre gfesrar g |

faep.
1) T W19 A B
1) & gferar 3l g

Options :

1. ® $HId [ IR0 FRAT §

2. ¥ HAd I1 IR0 HdT &

3. % 13RI GF SER0T PR §
4. % 1 3R AT 11 AR Il §

Question Number : 22 Question Id : 54062619051 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In this question, two statements have been given followed by two conclusions numbered I and II. Assuming that all information in the statement

is true, analyse the two conclusions together and determine whether any of them logically and definitely follow(s) from the information given in
the statement.



Statement I: All cereal are wheat.
Statement I1: All wheat are bajra.

Conclusions:
I) Some cereal are not bajra.
IT) Some bajra are cereal.

Options :

1. # Only I follows

2. % Only II follows

3. % Both I and II follows
4. % Neither I nor II follows

Question Number : 22 Question Id : 54062619051 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A UY A, 3 HYF AU L 5, o a1, 3 feesd shriferd 1 3R 11 fAU U B 1 98 AMd §T fb Sy & 9t SR} 9 €, & Fhuf &1 Ue
1Y fa=aiyor &% SR Fuiid B {6 31 376 I Pis 1 difchds U ¥ SR ffdd w0 I Hya & € 718 SHeR! &1 SR dxal g |

HYF [ 9 A TR B
HY 11 THt g IoRT 8|

sy
NEEERECISRERE]
1) $& SToRT 3 § |

Options :

1. % Had [ IR0 Hdl §

2. ¢ Had I 3IERU BT §

3. % [ 3R 11 ST SFERUI xd §
4. % 1 3R TE I STIR0 BT §

Question Number : 23 Question Id : 54062619052 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
In the question given below, there are two statements marked as Assertion (A) and Reason (R). Mark your answer as per the codes in options.

Assertion (A): Darjeeling is colder than Kolkata.

Reason (R): Darjeeling is at a higher altitude as compared to Kolkata.
Options :

1. ¥ Both A and R are true and R is the correct explanation of A.

2. % Both A and R are true but R is not the correct explanation of A.
3. % A s true but R is false.

4. % A is false but R is true.

Question Number : 23 Question Id : 54062619052 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T2 e e uy ¥, ) w5y 8 R 3ty (A) 3R BRUN (R) & =0 H fafed forar man | faded! & I8 & AR 3101 IR fafgd &9
FHYT (A): ST BHIAHTAT B ga-T | HfIH SST R
HRUT (R): BIABIAT Bt a1 | arfotieT e Hars W |

Options :

1. ¥ A SRR I B 3R R, A D! Tgt TS|

2. % A 3RREHI I g AP R, A DI T8I AHAT T8l 8
3. % A AfBAR TI B

4. % A 3TY E AMB R I g

Question Number : 24 Question Id : 54062619053 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In this question, a statement has been given followed by three course of action numbered I, II and I1I. Assuming that all information in the
statement is true, analyse the three actions together and determine whether any of them logically and definitely follow(s) from the information
given in the statement.

Statement: Coronavirus is spreading in India at an alarming rate causing death of around 100 people.



Courses of Action:

I) The Goverment should extend lockdown until situation comes under control.
IT) The Government should allocate food and general resources to needy people.
IIT) People should stop social distancing within families and friends.

Options :

1. ¥ Only I and II follow
2. % Only IT and 11T follow
3. % only III follows

4. % only II follows

Question Number : 24 Question Id : 54062619053 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SAUY T, U Y a1 71 §, oI a1, HRaATs & diF H Hifdbd I, 11 3R 111 fIGT 7Y § | I8 AMFd §T fh S § 9t STHaRI 94 §,

dH PRaArE & AT 5 BT Th 1Y Iy o3 3R R4iig B3 o o 370 A 31 o difbs ©u ViR AT S A Sy A 78
ST &1 IR0 el g |

HYT: URd H HRIFTGRRY Jhdd &3 I Thd 35T ¢ FoTId BRI THT 100 AT &1 Hid gl et g

HTATS BT HH:

I)@r%ﬁﬁawﬁ&nﬁwwweﬁm‘fmaw SgMHI dTfeu|

1) RER P! SREIqHE AN bl HISH 3R FTHT JG1e] T 3MTde B AUl
111) AT 1 IRaRT 3R gl & HidR AT g3 B AT A1y |

Options :

1. ¢ Had [ 3R 11 3R I §

2. % Had 11 3R 11 IR IR §

3. % Had [ IR0 AT &

4. % $HI 11 IRV HT §

Question Number : 25 Question Id : 54062619054 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which two signs should be interchanged to make the below equation mathematically correct?



16+4-2x2+3=3
Options :

1. # xand+

2.% +~and +

3. % +and-

4. % xand -

Question Number : 25 Question Id : 54062619054 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T feu 71T gHieRu o I8t 99 & forg food gl famgl &l 10T 20 ¥ IRER SgaHT argy?

16+4-2x2+3=3
Options :

1. % x 3R+
2‘\;/+8-ﬁ7+
3. % < 3R -
4 % x 3N -

Question Number : 26 Question Id : 54062619055 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the missing term in the following number series:

8,9,12,18,  ,43
Options :

1. % 25

2. %27

3. % 38

4. ¥ 28



Question Number : 26 Question Id : 54062619055 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferRad et e d qud g J1d &y

8,9,12,18,  ,43
Options :

1. = 25

2. % 27

3. % 38

4. ¥ 28

Question Number : 27 Question Id : 54062619056 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The total of the ages of Rohit, Ramesh and Rahul is 45 years. What was the average of their ages three years ago?
Options :

1. % 15

2. % 14

3. 12

4. % 10

Question Number : 27 Question Id : 54062619056 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e, TR SR A P13 BT HdA 45 T4 g1 T I8 Ugd 3! 3T BT 3Ad o7 Y12
Options :

1. ® 15

2.% 14

3.¥ 12

4. % 10



Question Number : 28 Question Id : 54062619057 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If there are 13 people in a party and all of them handshake with each other, find the total number of handshakes done?
Options :

1. # 169

2. % 156

3.¥ 78

4. % 25

Question Number : 28 Question Id : 54062619057 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe foreht uref o 13 a1 8 MR Tt Uoh-g¥R J g1 frerd &, iy T g1l ot i TReAm &bt [ e
Options :

1. % 169

2. % 156

3.¥ 78

4. % 25

Question Number : 29 Question Id : 54062619058 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

At a party, 50 percent of people eat icecream, 25 percent of people eat chocolate, 20 percent eat both. What percent of people neither eat
chocolate nor icecream?

Options :
1. % 65
2.9 45
3. % 50
4. % 40

Question Number : 29 Question Id : 54062619058 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T Tl |, 50 UfT=Id AT SIS IH WId §, 25 Ufa=Id AR didbae TTd 8, 20 Ua=Id dRT a1 |Td & | fohd= ufa=ra anT 9 af Sidbae @ 8
IR 1 g1 SHTSHHIH W &2

Options :

1. # 65

2. % 45

3. % 50

4. % 40

Question Number : 30 Question Id : 54062619059 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following Venn diagrams best represents the relationship between furniture, tables and chairs?
Options :

® © ©



Question Number : 30 Question Id : 54062619059 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofefad 7 3 19 91 99 3R BTeR, B SR $RITT & did & Hdy bl Tad 331 SRTdll 62

Options :

® © ©

o
ﬁ
1\
g_./

Question Number : 31 Question Id : 54062619060 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The given Venn diagram shows relationship between A and B. How many elements are there in set A?



Options :
1. ® 18
2.9 22
3. % 38
4. % 15

Question Number : 31 Question Id : 54062619060 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T a1 377 3R A 3R B & 1 & Gai &I G181 I A T v Jerawg &2

Options :
1. ® 18
2.9 22
3. % 38



4. % 15

Question Number : 32 Question Id : 54062619061 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given Venn diagram, triangle shows the number of members of a society who can swim, square shows the number of members who can
dance and circle shows the number of members who can sing. How many of them can swim but not sing?

4

7

Options :
1. % 4
2. %3
3.9
4. % 12

Question Number : 32 Question Id : 54062619061 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feT 71T 377 3 H, YW T T8 IS P YGRIl ] YW1 D1 a1 § Ol R b o, a1 3 GG P! G D1 G § Sl T P Thdl §
3R G 31 Tl &1 G B SR § Sl T Fehd g | 318 U fhd- @ ok Tohd & ol T -Tg] qabdl?




n

Options :
1. % 4
2.% 3
3.9
4. % 12

Question Number : 33 Question Id : 54062619062 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following answer completes the series of the question figure?



4 8 12
3 2 ?
64 64 | 20736
Options :
1. %3
2.%5
3.¥ 4
4. % 10

Question Number : 33 Question Id : 54062619062 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

FAfRd & O &1 91 SR, U SHIA BT §ael &1 I Hal 62

4 8 12
3 2 ?
64 64 | 20736

Options :




1. %3
2.% 5
3.4
4. %10

Question Number : 34 Question Id : 54062619063 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third figure on the same basis as the second figure is related to the first figure.

— [+ = e

Options :




Question Number : 34 Question Id : 54062619063 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I fahed o7 T8 B S IR STHid T I ISR T Faifdid & for TR gaR 3iapid uget siigpfa ¥ Tefdd ]

— 4L =] 2

Options :

Question Number : 35 Question Id : 54062619064 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following options is the wrong figure in the series?



Options :

1. # Image A
2. # Image B
3. % Image C
4. ¥ Image D

Question Number : 35 Question Id : 54062619064 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiead o @ ®F 9 fadwed yaar # Tad i g2

Options :

1. % B A
2. % BfdB
3. % BfdC
4. BfdD

Question Number : 36 Question Id : 54062619065 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the figure pair that is related on the same basis to the figure pair given in the question.



VARSI HE

Talfa
2. % 2l i
. < [P
MESEE

Question Number : 36 Question Id : 54062619065 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 SATH SiTs! b1 9 B o Uy H &1 715 Spfd SIS ¥ WHM UbR A Feifdrd g1

VARSI HIE




Options :

A A
ZHD:DD
Wﬂibb
MES P

Question Number : 37 Question Id : 54062619066 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If a mirror is placed on the line PQ, then which of the answer figures is the correct image of the given figure?

P

Q
Options :



1. ¢

VANK

Question Number : 37 Question Id : 54062619066 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fE TP U ) @M PQ TR W1 T &, A 1 T IR 31Tl & T8 Si1epfal b1 Wt guor ufifee &2

P




Options :

v L

AN

A

Question Number : 38 Question Id : 54062619067 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following cubes in the answer figure cannot be made based on the unfolded cube in the question figure?



Options :
s
. | R
1. =
o
e -~
2. %
 [*
3. %
-+
X =
4. &

Question Number : 38 Question Id : 54062619067 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR AHA & FEfRed T 9 HF A1 99 0% P & G O7 & YR TR ! =11 I Jahel 52



Options :
s
. | R
1. %
o
R -~
2. %
 [*
3. %
-+
X =
4. &

Question Number : 39 Question Id : 54062619068 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the maximum number of triangles in the given figure.



Options :
1.¥7
2.% 8
3.9
4. % 10

Question Number : 39 Question Id : 54062619068 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A repfa B Bryeil Y i T J1d B

Options :
1.7
2. % 8
3.%9
4. % 10



Question Number : 40 Question Id : 54062619069 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given answer figures, select the one in which the question figure is hidden/embedded.

-

Options :

1. %

2. ¥
IV
/

3. %

4. %

Question Number : 40 Question Id : 54062619069 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

&1 718 IR ST T, I THIA BT 999 &1 ford U ipfa fodafaka gl

Options :
£
1. %
V4
2.
3. #
4, #

General Awarenessl
Group Number : 3
Group Id : 540626726



Group Maximum Duration : 0

Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No

General Awarenessl

Section Id : 540626908
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 5406261097
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 54062619070 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following states is the Kumbhalgarh Fort located?
Options :

1. ® Maharashtra

2. % Tamil Nadu

3. ¥ Rajasthan

4. % Madhya Pradesh



Question Number : 41 Question Id : 54062619070 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad o 3 foog 3o § prienTe o fRUa 82
Options :

1. * HeRIY

2. % qfird g

3. ¥ ISR

4. % O USY

Question Number : 42 Question Id : 54062619071 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Pai songs are most popular folk songs in which of the following states?
Options :

1. % Maharashtra

2. ¥ Madhya Pradesh

3. ¥ Andhra Pradesh

4. ¥ West Bengal

Question Number : 42 Question Id : 54062619071 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e # 9§ fovg 3roar H Ug THid Yo ehiep o aiep 1M &7
Options :

1. % HERIY

2. ¥ AL YSH

3. % Y UG

4. % UfYH ST

Question Number : 43 Question Id : 54062619072 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Zemmado is an interesting dance form in which women belonging to the Dhangar community of Goa imitate the actions of which of the
following animals?

Options :
1. * Elephant
2. % Lion
3. % Goat

4. % Cow

Question Number : 43 Question Id : 54062619072 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS U b o U TSl Ml & R e & Weiferd afgany Fafcied § @ iy SR & foharsil &1 sigseur el 82
Options :

1. % greil

2. % 38

3. ¢ dd]

4, % 1Y

Question Number : 44 Question Id : 54062619073 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Kharchi Puja is a festival which involves worshipping of gods who forms the dynasty deity of the Tripuri people.

Options :
1. % 11
2. % 12
3. % 13
4. ¥ 14

Question Number : 44 Question Id : 54062619073 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



WRAT Yol U AR & fored Saarei Bt gl 2 § S B vl & 99 dadi B =u g
Options :

1. % 11

2. % 12

3. % 13

4. 14

Question Number : 45 Question Id : 54062619074 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A was originally defined as a tax on all spot conversions of one currency into another.
Options :

1. ¥ Tobin tax

2. # Pigouvian tax

3. # Octroi tax

4. # Corporate tax

Question Number : 45 Question Id : 54062619074 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
D gd =0 F T 918 WR Teb a1 ¥ g & TUICRUN o DR & T4 T gRYT foar mam o7 |

Options :

1. ¢ afgT IR

2. % o R

3. % TR Yeh IR (3Ahels )
4. % BHIURC B

Question Number : 46 Question Id : 54062619075 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which among the following banks was not nationalised in 1969?



Options :

1. # Allahabad Bank

2. # Central Bank of India
3. % Bank of India

4. % Andhra Bank

Question Number : 46 Question Id : 54062619075 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1969 H Fafcifed o ¥ fby I &1 gt g fovam mar um
Options :

1. % SATETETE §ep

2. % Jued b 3T sfgar

3. % do 3Tt Sfea

4. ST dH

Question Number : 47 Question Id : 54062619076 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Union Budget was presented at 5 pm in the Parliament till the year
Options :

1. #* 1995

2. % 2001

3. % 2000

4. % 2005

Question Number : 47 Question Id : 54062619076 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Gl dh HaIg Toic MY 5 Tof T T U fohT ST |
Options :




1. #* 1995
2. % 2001
3. % 2000
4. % 2005

Question Number : 48 Question Id : 54062619077 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following banks was earlier known as the 'Imperial Bank of India'?
Options :

1. ¥ State Bank of India

2. # Bank of India

3. # Reserve Bank of India

4. # (Central Bank of India

Question Number : 48 Question Id : 54062619077 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FrafaRad o 9 fod 9o &1 ugd SURTd d& 311t $f$ar & A8 J ST SIrdn o
Options :

1. ¥ YR ¥C dF

2. % o 3T 3fSan

3. % YR Rod dp

4. % Jued 9 AT oS

Question Number : 49 Question Id : 54062619078 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following was the first woman to have presented the budget in the parliament?
Options :

1. # Sonia Gandhi



2. * Pratibha Patil
3. # Indira Gandhi

4. % Nirmala Sitharaman

Question Number : 49 Question Id : 54062619078 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofiied o ¥ 319 9e # goic U= A a1l ugat Afgar i
Options :

1. % G e

2. % giquruifed

3. ¢ Sfer et

4. % frar FdRmA

Question Number : 50 Question Id : 54062619079 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of these organs helps in the filtration of blood?
Options :

1. ¥ Kidney

2. % Lungs

3. ® Gallbladder

4. # Larynx

Question Number : 50 Question Id : 54062619079 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

STH I DI AT 37 Iad & UeT & TgrIdT Hdl 52
Options :

1. ¢ &l
2. % Ththg




3. % U™
4, % GIGA

Question Number : 51 Question Id : 54062619080 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following is the first thermal power plant of National Thermal Power Corporation Limited?
Options :

1. # Talcher Super Thermal Power Station

2. % Sikka Thermal Power Plant

3. # Rihand Thermal Power Plant

4. % Singrauli Super Thermal Power Plant

Question Number : 51 Question Id : 54062619080 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafafad & @ o a1 gk aufaggd fFm fafies &1 ugar Swia e wie 82
Options :

1. % drerer YUR S fad ¥4

2. % RydehT S Yferd wiie

3. % Rg< S Y wic

4, ¢ TR YR S =i wiie

Question Number : 52 Question Id : 54062619081 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the plant kingdoms is also known as the amphibians of the plant kingdom?
Options :

1. ¥ Bryophyte

2. % Thallophyte

3. # Gymnosperms



4. ¥ Angiosperms

Question Number : 52 Question Id : 54062619081 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafRad aeafa-orTd & ¥ ford g Rufa-SiTd & IUTERY & 8 ¥ Hft 7 S 32
Options :

1. ¢ SIBIEC

2. % JAIpTRel

3. % Mgl

4. % 3fIqdaret

Question Number : 53 Question Id : 54062619082 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following national parks is the only national park in which four Big Cats — tiger, leopard, snow leopard and clouded leopard
are found?

Options :

1. # Narayan National Park
2. % Namdapha National Park
3. % Kaziranga National Park
4. ¥ Dachigam National Park

Question Number : 53 Question Id : 54062619082 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafafed It Ioml & 9 319 91 UeaE I ST § o IR 97-f9dTd §- g, dgafl, fed dwgaf $iR yffd dgsn (ise s dus)
7Y STTd 87

Options :

1. % TR0 I

2. ¢ THCTHT AP IM

3. % DRI AP I




4. % TTENTIHA APT I

Question Number : 54 Question Id : 54062619083 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following defects is also known as near-sightedness?
Options :

1. ¥ Myopia

2. % Cataract

3. # Hypermetropia

4. % Presbyopia

Question Number : 54 Question Id : 54062619083 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRed # 3 frg G &1 Adee® & A ¥ ot <1 ofrar 82
Options :

1. ¢ AR

2. % Hifqariag

3. % gE®

4. % JHIRIOAT

Question Number : 55 Question Id : 54062619084 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

India does not share its borders with which of the following countries?
Options :

1. # China

2. % Pakistan

3. % Bhutan

4. ¥ Thailand



Question Number : 55 Question Id : 54062619084 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR fafeRad o ¥ fg <=1 % 91y 3o Hiar J1er 81 ol 82
Options :

1. % dH

2. ® UifhEd

3. % Y

4. & YTSATS

Question Number : 56 Question Id : 54062619085 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following peaks is also known as "Hidden Peak"?
Options :

1. # Kanchenjunga

2. % Gasherbrum I

3. * Nanda Devi

4. % Godwin Austen

Question Number : 56 Question Id : 54062619085 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrofafea aifcdl o 9 fd gur udar & 78 4 o S o 82
Options :

1. % o

2. ¥ IIRRGH 1

3. % a1l

4. % TS Sl



Question Number : 57 Question Id : 54062619086 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following is not a tributary of Damodar river?
Options :

1. # Bokaro

2. # Ghari

3. % Konar

4. ¥ Bhavani

Question Number : 57 Question Id : 54062619086 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FafiRed # 3 o1 I gHIeR 74 1 T Iu 7o 52
Options :

1. % SIDRI

2. % Ry

3. % HFR

4.« Yaril

Question Number : 58 Question Id : 54062619087 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following separates the Tamil Nadu state of India and the Mannar district of Sri Lanka?
Options :

1. # Durand Line

2. ¥ Palk Strait

3. % Radcliffe Line

4. ¥ MacMohan Line

Question Number : 58 Question Id : 54062619087 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

frafafad # 9 &9 URd & afd T1g o 3R HidieT & 7R fofd & 3@ Rl 82
Options :

], % UGS Ml

2. ¥ (b SIS HR™HY

3. % Yefaaw
4. % HHHIGT @l

Question Number : 59 Question Id : 54062619088 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HRA TadadT SHfAfAgH e arid faar mar i
Options :

1. ® Sa’t 1947

2. % fadsR 1947

3. ¢ TS 1947
4. % AT 1947

Question Number : 59 Question Id : 54062619088 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
When was the Indian Independence Act passed?
Options :

1. % January 1947

2. % December 1947

3. % July 1947

4. ¥ March 1947

Question Number : 60 Question Id : 54062619089 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which among the following plan is also known as "Breakdown Plan"?
Options :

1. ¥ Wavell Plan

2. # Dalhousie Plan

3. # Cornwallis Plan

4. % Bentinck Plan

Question Number : 60 Question Id : 54062619089 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefad & 3 f5g AT &1 "dpere WH" & TH I 1 SH1 SI1dT 82

Options :
1. ¢ 9dd o
2. % ZAGISN Aol
3. % PiHarerg e
4. % Sfee g

General Awareness2
Group Number : 4
Group Id : 540626727
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No

General Awareness2



Section Id : 540626909

Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 5406261098
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 54062619090 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following was not an Extremist leader?
Options :

1. % Bipin Chandra Pal

2. % Bal Gangadhar Tilak

3. # Lala Lajpat Rai

4. ¥ Dadabhai Naoroji

Question Number : 61 Question Id : 54062619090 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFafafed § 3 o Iuard! a6t &2
Options :

1. # fofte < ot

2. % e MR foeieh

3. % T <ISiyd 1T

4. ¢ TETYTS ARSI




Question Number : 62 Question Id : 54062619091 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Ahmadiyya Movement was started in by Mirza Ghulam Ahmed.
Options :

1. ¥ 1889

2. % 1870

3. % 1902

4. % 1852

Question Number : 62 Question Id : 54062619091 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3l TG &) YB3 AT T 3gHg gl EEARIERI
Options :

1. ¥ 1889

2. % 1870

3. % 1902

4. % 1852

Question Number : 63 Question Id : 54062619092 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following was the first Governor General of Independent India?
Options :

1. % Lord Cornwallis

2. % Lord Dalhousie

3. # Lord Bentinck

4. ¥ Lord Mountbatten

Question Number : 63 Question Id : 54062619092 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
fFafafad 7 § o Wda YR & Ugd HERTSIUTS 92
Options :

1. % QIS PHi-arery

2. % TS Sagl

3. % qrs dfedh

4.  dls ATdcde

Question Number : 64 Question Id : 54062619093 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following countries is not a member of the Group of Eight (G8)?
Options :

1. % United States

2. % Japan

3. % United Kingdom

4. ¥ India

Question Number : 64 Question Id : 54062619093 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frofefad o ¥ 19 1 3 3116 & THE (G8) BT I T8 &7
Options :

1. % T3S Wed

2. % NI

3. % g fhiren

4. % HRd

Question Number : 65 Question Id : 54062619094 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



'Mind Master' is an autobiography of which of the following persons?
Options :

1. ¥ Viswanathan Anand

2. # Sachin Tendulkar

3. ¥ Bhagat Singh

4. % Sania Mirza

Question Number : 65 Question Id : 54062619094 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TES AReR Fafafad & & foy safad &1 sraHUT 82
Options :

1. ¢ fAYIA 8MHg

2. # Ty dgaax

3. % ird g

4. % iy ferrt

Question Number : 66 Question Id : 54062619095 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Kalinga Prize is an award given by UNESCO for the contribution in the field of
Options :

1. #* literature
2. % science
3. % peace

4. % architecture

Question Number : 66 Question Id : 54062619095 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BT REBR & &7 § TN & o Towh! (UNESCO) gRT f&am T T [REPR B

Options :




1. % Tifgd

2. ¢ fa3H

3. % Tifq

4. % R (3HMhRR)

Question Number : 67 Question Id : 54062619096 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following was India's first experimental satellite launch vehicle?
Options :

1. % SLV-4

2. % SLV-1

3. ¥ SLV-3

4, ® SLV-2

Question Number : 67 Question Id : 54062619096 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FrafaRad o 9 SH YRd &1 Ugdll URIRIS SUUE H&T I AT?
Options :

1. ® SLV-4

2. % SLV-1

3. % SLV-3

4. % SLV-2

Question Number : 68 Question Id : 54062619097 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who became the first hockey player in India to win 'World Games Athlete of the Year' award in 2020?
Options :

1. ¥ Rani Rampal



2. % Manpreet Singh
3. % Sandeep Singh
4. #® Gurjit Kaur

Question Number : 68 Question Id : 54062619097 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2020 T I6S T TYAIE 3T g ST RIGR S aTdl HRd &1 Ugd it RAaTa! - a1
Options :

1. ¢ X AT

2. % T R

3. % T ¥

4. % TR DR

Question Number : 69 Question Id : 54062619098 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Indian Navy launched ‘Operation > on January 2020 to provide relief and assistance to the cyclone-hit population of
Madagascar.

Options :

1. # Disaster
2. ®% Cyclone
3. % Chocolate
4. ¥ Vanilla

Question Number : 69 Question Id : 54062619098 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRATT AT 5 HSFTRGR D1 Ishdld THIAT STETET DI M8 SR TeTI U&H B & foIE SHast 2020 BT SO ' IR
foa|

Options :

1. % feurer




2. % g
3. ® Fiddc
4. ¢ g

Question Number : 70 Question Id : 54062619099 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

On April 9, 2020, the launched a revised version of Swachhata application.
Options :

1. % Ministry of Defence

2. % Ministry of Human Resource Development

3. ¥ Ministry of Housing and Urban Affairs

4. % Ministry of Home Affairs

Question Number : 70 Question Id : 54062619099 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 37U, 2020 I, - [WEdl TR BT Th HRNAT HHRUT BT Yaqor fasa|
Options :

1. % & HATTT

2. % Hd 1Y HATTH

3. ¢ TR Sifth BrafRiTT U3 3 Srtha

4. % T[g HATTY

Question Number : 71 Question Id : 54062619100 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
tableau has been adjudged the best among the 16 states and union territories that participated in the Republic Day parade 2020.
Options :
1. ¥ Odisha's
2. % Assam's



3. # Uttar Pradesh's
4. # Gujarat's

Question Number : 71 Question Id : 54062619100 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fa TRS 2020 H HFT T AT 16 0 3R S RIS U= & &1 MU B! TS AT T 8 |
Options :

1. % 3nfe=m

2.9 34H

3. % WU

4. % TGRId

Question Number : 72 Question Id : 54062619101 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who is currently (as of August 2021) the President of India?
Options :

1. ¥ Ram Nath Kovind

2. # Narendra Modi

3. # Pranab Mukherjee

4. ¥ Pratibha Patil

Question Number : 72 Question Id : 54062619101 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I H (ST 2021 Teb) HRd & JFUF DI 82

Options :

1. ¢ JH 1Y Hifd<
2. % g AT



3. % YUE gl
4. % gfqyr arfed

Question Number : 73 Question Id : 54062619102 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following constitutional amendment is the Land Boundary Agreement (LBA) between India and Bangladesh?
Options :

1. % 98th

2. % 99th

3. % 101st

4. ¥ 100th

Question Number : 73 Question Id : 54062619102 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafifed & @ o1 I 93urfe I YR 3R S & o Y S gHhar 82
Options :

1. % 98d

2. % 99d

3. % 1014

4. 1004l

Question Number : 74 Question Id : 54062619103 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following parts in the Indian Constitution is associated with the Fundamental duties?
Options :

1. % 1V

2. % VIA

3. ¥ IVA



4. %V

Question Number : 74 Question Id : 54062619103 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRetg Gfyur & Frafifad yrl & @ 19 91 qa Sdodl & Je18?
Options :

1. % 1V

2. % VIA

3. ¥ VA

4. =V

Question Number : 75 Question Id : 54062619104 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to which of the following Articles, the state shall not deny to any person equality before the law or the equal protection of the laws
within the territory of India?

Options :
1. % 24
2.¥ 14
3. % 32
4. % 20

Question Number : 75 Question Id : 54062619104 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafRad 4 O fod srfwde & SR, o8 DI o gHE bl safdd &1 THHd a1 YRd & &3 & ek S o FHH IREU ¥ FADR
1 B

Options :

1. % 24

2. 14

3.% 32




4. % 20

Question Number : 76 Question Id : 54062619105 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following was an Indian player to feature in Women's ICC T20 World Cup team of the tournament 2020?
Options :

1. % Deepti Sharma

2. % Priya Punia

3. ¥ Mithali Raj

4. ¥ Poonam Yadav

Question Number : 76 Question Id : 54062619105 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad # 9 S gatde 2020 &1 ARET 1CC T20 T3y HU H WiR S arelt YR faarst ot
Options :

1. % Gt zAl
2. % o gfan
3. % foard I
4.« TAA T1Ed

Question Number : 77 Question Id : 54062619106 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following hosted the first one-day Cricket World Cup tournament held in 1975?
Options :

1. ¥ England

2. % Australia

3. # India

4. % New Zealand



Question Number : 77 Question Id : 54062619106 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad @ 9 farem 1975 T AR Ugd T feaita fohdve fay &0 gAfde &1 Aotar &1

Options :
1. ¥ A0S
2. % 3fiecfer

3. % HRd

4. % SllcIvs

Question Number : 78 Question Id : 54062619107 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following won the men's singles title at the Dubai Tennis Championships 2020?
Options :

1. % Rafael Nadal

2. % Mahesh Bhupati

3. % Novak Djokovic

4. ¥ Andy Murray

Question Number : 78 Question Id : 54062619107 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoRed & 3 forem gas e SfUaafRig 2020 T g3 tehd Radre St
Options :

1. # XPIU AT

2. % TR YUfd

R GICAICAICE|

4. % TSI



Question Number : 79 Question Id : 54062619108 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The number of women match officials across different International Cricket Council panels is as of 10th April 2020.
Options :

1. = 14

2. % 16

3.% 8

4. 12

Question Number : 79 Question Id : 54062619108 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

10 310 2020 o fAfar SRTPT fopebe ufvwe e & Afgen 79 sl 31 T gl
Options :

1. % 14

2. % 16

3.% 8

4. 12

Question Number : 80 Question Id : 54062619109 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following won the men's race at Tokyo Marathon 2019?
Options :

1. * Bashir Abdi

2. % Birhanu Legese

3. * Mule Wasihun

4. % Masato Imai

Question Number : 80 Question Id : 54062619109 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fafied & ¥ & <o AR1Y 2019 H 88! &1 39 SitdT?

Options :

1. % FR 3MTect
2.«/%?313@@(
3. % o dIfdig
4. % TOT 3HTS
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Group Id :
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Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 54062619110 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If (1/6) of 5538 - 48 percent of 1550 = x2 - 262, then what is the value of x?
Options :

1. % 12

2. % 16

3. % 20

4.9 21

Question Number : 81 Question Id : 54062619110 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tfe 5538 BT (1/6) - 1550 BT 48 U = x2 - 262 B, ¥ x BT HH R 82
Options :

1. % 12

2. % 16

3.% 20

4.9 21

Question Number : 82 Question Id : 54062619111 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The length, breadth and height of a room are 160 m, 180 m and 210 m respectively. What is the length of the longest rope that can measure the
three dimensions of the room exactly?

Options :
1. ®* 30m
2. % 20m
3.10m

4. % S5m



Question Number : 82 Question Id : 54062619111 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH HHR DI Tdls, IS8 3R HaTs HH: 160 m, 180 m AR 210 m &1 TN Tell T B A8 1 g S HH b <1 TATHI B! f[addpd Tat
19 el 82

Options :

1. % 30 m

2. % 20m

3. 10m

4. % 5Sm

Question Number : 83 Question Id : 54062619112 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

At an animal shelter 3/7 of the animals are dogs. Out of the dogs 1/4 are females. What fraction of the animals at the shelter are male dogs?
Options :

1. ¥ 9/28

2. % 3/4

3. % 3/7

4. % 9/31

Question Number : 83 Question Id : 54062619112 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TSP U] 318 T SIFeRI BT 3/7 Pl g | Sl A 1/4 ATGT§ | 31T & SHaR] T {1 e TR el &2
Options :

1. ¥ 9/28

2. % 3/4

3. % 3/7

4. % 9/31




Question Number : 84 Question Id : 54062619113 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Five electronic devices make a beep after every 5 minutes, 10 minutes, 25 minutes, 35 minutes and 50 minutes respectively. All the devices
beeped together at 1:30 AM. At what time they will again beep together?

Options :

1. % 6:30 PM
2.% 7:20 AM
3. % 5:50 AM
4. % 6:20 PM

Question Number : 84 Question Id : 54062619113 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Uid gaae -d SUHRUT SHH: 5 e, 10 fie, 25 fiFe, 35 fiFe 3R 50 e & 918 §lu &1 ofia™ #vd €1 1:30 JaTg TR T+t SusmHRon A
T 1Y S BT SH1ars fobdT | fobd 0T o fihr ¥ T 1Y & Hp?

Options :

1. % 6:30 AWRT&
2.¢ 7:20 qdTg
3. % 5:50 qaTg

4. % 6:20 AWTa

Question Number : 85 Question Id : 54062619114 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The average weight of 12 persons decreased by 750 gm when a new person comes in place of one of them weighing 70 Kg. What was the weight
of the new person?

Options :

1. % 9Kg
2. % 45Kg
3. % 52Kg
4. ¥ 61 Kg



Question Number : 85 Question Id : 54062619114 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

12 G BT Sd goid 750 gm ¥ HH 81 ST & SId Udh 991 e 70 Kg a9 dlal U dfad & I UR 3TdT g | 78 fad o1 gl o
T2

Options :

l. % 9Kg

2. % 45Kg

3. % 52Kg

4. 61 Kg

Question Number : 86 Question Id : 54062619115 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A dozen pairs of gloves of Rs. 150 are available at a discount of 12 percent. How many pairs of gloves can be bought for Rs. 66?
Options :

1.¥6

2.% 11

3. % 8

4. % 10

Question Number : 86 Question Id : 54062619115 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

WM & TP o Sl 12 UfIRId &1 ge W 150 FUT H JuA 5| 66 $UT H TM & fhdA Sl TS o Tahd 82
Options :

1.¥6

2.% 11

3. % 8

4. % 10




Question Number : 87 Question Id : 54062619116 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A shopkeeper has a sale of Rs. 10220, Rs. 11542, Rs. 8458 and Rs. 9845 for four consecutive weeks. How much sale he must have in the fifth
week, so that he gets an average sale of Rs. 10362 per week?

Options :

1. # Rs. 11542
2. % Rs. 10065
3. ¥ Rs. 11745
4. ® Rs. 10045

Question Number : 87 Question Id : 54062619116 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP GHMER B AR IR I o [T 10220 BUT, 11542 BT, 8458 FUT 3R 9845 BT HI fach! g3 | Uiwd Aw1g & SUD! fb-1 oeh!
B ATfe T, Tfdh I Ufel TWlTg 10362 FUY 1 ST foysht et 2

Options :

1. % 11542UUT
2. % 10065 >UU
3.9 11745 %0Q
4. % 100452797

Question Number : 88 Question Id : 54062619117 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the radius of a circle is increased by 20 percent, then by how much is its area increased?
Options :

1. # 400 percent

2. # 144 percent

3. % 40 percent

4. ¥ 44 percent



Question Number : 88 Question Id : 54062619117 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

afe; frft g @t s o 20 wfard @ 9fE &t Sl 8, d S aawa H forat gfe g
Options :

1. % 400 Ufcr=Id

2. % 144 Yfd=rd

3. % 40 Ufc=Id

4.« 44 gia=d

Question Number : 89 Question Id : 54062619118 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If Krishna's income is 7(1/7) percent more than that of Vishakha, then how much percent is Vishakha's income less than that of Krishna?
Options :

1. ¥ 20/3 percent

2. % 50/7 percent

3. % 75/7 percent

4. % 16/3 percent

Question Number : 89 Question Id : 54062619118 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IS W 1 1T TI=mar & gar1 § 7(1/7) Ufa=rd 31fies §, O o=man &t 31 $wn &t g1 | o= ufa=a 9 &4 82
Options :

1. ¢ 20/3 Ufa=rd

2. % 50/7 Ufa=rd

3. % 75/7 gfa=rd

4. % 16/3 Ufa=rd

Question Number : 90 Question Id : 54062619119 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

At an exam, maximum marks were 1000, P got 5 percent less than Q, Q got 20 percent more than R, R got 25 percent less than S. If P got 342
marks, then what percentage did S get?

Options :

1. # 60 percent
2. % 80 percent
3. % 45 percent
4. ¥ 40 percent

Question Number : 90 Question Id : 54062619119 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS U8l |, fIHdH 3 1000 ¥, P BT Q T 5 UTa=d H e, Q I R ¥ 20 Ufa=rd 3ifde fidl, R &1 s T 25 Ufa=d &4 a1 afg p &1 342
3ip fa 8, @t s ! fpam ufawra sis fira

Options :

1. % 60 Ufcrd
2. % 8o Ufard
3. % 45 gfa=rd
4. ¥ 40 gfaerd

Question Number : 91 Question Id : 54062619120 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The salaries of Pawan and Rishbha together amount Rs. 60000. Pawan spends 90 percent of his salary and Rishbha spends 80 percent of his
salary. If their savings are same, then what is Rishbha's salary?

Options :

1. # Rs. 40000
2. % Rs. 20000
3. % Rs. 35000
4, % Rs. 25000

Question Number : 91 Question Id : 54062619120 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Ug 3R FYH BT I T 1Y 60000 SUT BT § | Ta-T 3T - T 90 UfA=Id 3R BUH U= I BT 80 Ufaerd T Sl g | afe It
I GAM ©, dl FYH HT da- T g2

Options :

1. % 40000 ¥UY

2.+ 20000 ¥UY

3. % 35000 3T

4. % 25000 ¥UY

Question Number : 92 Question Id : 54062619121 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Samina buys pencils from a wholesaler at Rs. 10 for 20 pencils. She sells those pencils at Rs. 20 for 10 pencils. What is the profit percent?
Options :

1. # 30 percent

2. % 100 percent

3. % 200 percent

4. % 300 percent

Question Number : 92 Question Id : 54062619121 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

wﬂmw?mﬁ’r@r 10 3T H 20 TRy & feame § Ufa @iiedt 81 98 39 URial &1 20 TUT H 10 ORI & 399 I st g1 A1y
gfer=rd w1 32

Options :

1. % 30 gfawrd
2. % 100 Ufaderd
3. % 200 Ufd=Id
4. ¢ 300 Yfa=rd



Question Number : 93 Question Id : 54062619122 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A shopkeeper incurs a loss of 13 percent if he sells an article for Rs. 4350. What price must he sell the article so as to gain 13 percent on that
article?

Options :

1. ¥ Rs. 5000
2. % Rs. 4505
3. ¥ Rs. 5650
4. % Rs. 4865

Question Number : 93 Question Id : 54062619122 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP gHMaR 13 A=A B 8T o9 HRal § Tle a8 4350 $UY & [0 Th a¥ B! oadl ¢ | 39 a¥g W 13 UTI=Id a1 Ui HR o ol 39
fhd Qo R a%g o1 ST A1 T2

Options :

1. % 5000 ¥UY

2. % 4505 30T

3. ¥ 5650 ¥UT

4. % 4865 30U

Question Number : 94 Question Id : 54062619123 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A man purchased two varieties of sugar, 50 Kg at Rs. 20.50 per Kg and 90 Kg at Rs. 38 per Kg. He mixed the two varieties of sugar and sold the
mixture at a gain of 15 percent. What is the per Kg selling price of the mixture?

Options :

1. ¥ Rs. 36.51
2. % Rs. 28.50
3. # Rs. 39.15
4, ® Rs. 37.25



Question Number : 94 Question Id : 54062619123 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS fad A &l fee o1 2, 20.50 $UT UM Kg TR 50 Kg 3R 38 ¥UT U Kg TR 90 Kg BRIGT 3T =it 1 & foret ot ffdra faram ok
fRrsror Y 15 ufaera & a1y R o4 Yo a1 Ufd K 1 fasa qeu g2

Options :

1. ¥ 36.51 ¥UU
2. % 28.50 ¥Ul
3. % 39.15%UU¢
4, % 3725%UC

Question Number : 95 Question Id : 54062619124 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sum of three numbers is 51. If the ratio of the first to second is 2:3 and that of second to the third is 6:7, then what is the second number?
Options :

1. % 12

2. % 15

3.9 18

4, % 2]

Question Number : 95 Question Id : 54062619124 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fF el 1 AT 51 7| afe ugel o guRt TReAT BT UM 2:3 § 3R GO U ARl 1 U 6:7 8, Al qus! S &1 82
Options :

1. % 12

2.% 15

3.4 18

4. % 21




Question Number : 96 Question Id : 54062619125 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In an institute the number of boys and girls are in the ratio of 5:9. If the number of boys are increased by 30 percent and the number of girls are
increased by 10 percent, then what will be the new ratio of number of boys to that of girls?

Options :

1. ® 5191
2. % 45:19
3. % 55:69
4. ¥ 65:99

Question Number : 96 Question Id : 54062619125 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T% SR H T5% SR TSl 1 T8 5:9 & SIId H 5 | I AP 1 W | 30 fo=id 3 33 gt § ok asfaat ot g & 10
gfa=rd ! gf Bt 8, O il & We & oIt ds ! 1 T &1 74T SUTd o 82

Options :

1. % 51:9]

2. % 45:19

3. % 55:69

4. 65:99

Question Number : 97 Question Id : 54062619126 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Divide Rs. 4800 among Honey, Bunny and Sunny, such that Bunny receives 1/2 as much as Honey and Sunny together and Honey receives 1/3 as
much as Bunny and Sunny together. What is the share of Sunny?

Options :

1. ¥ Rs. 1200
2. % Rs. 1600
3. ¥ Rs. 2000
4. % Rs. 1800



Question Number : 97 Question Id : 54062619126 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B, T4 3R T & d19 4800 SUT 3T g faHTRId &3 o 5+ Y g1t 3R T+ Y Uep 1y fie areft MR 67 1/2 1= ured 81 8iR g1 bt
T 3R &1 b1 e arelt I &7 1/3 ora=1 urd 811 I b1 fRem s 82

Options :

1. % 1200 ®4YQ
2. % 1600 U
3. 92000 %4
4, % 1800 >UU

Question Number : 98 Question Id : 54062619127 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ratio of prices of two tables is 9 : 11. If the price of the first table is increased by 10 percent and that of the second table by Rs. 1100 then the
ratio of their prices is 3 : 5. What are the initial prices of the tables?

Options :

1. ¥ Rs. 1800, Rs. 2200
2. % Rs. 900, Rs. 1100

3. # Rs. 2700, Rs.3300
4. % Rs. 1200, Rs. 2300

Question Number : 98 Question Id : 54062619127 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& TSl T Yool &1 ST 9 : 11 81 TfS Ugeh A1 & Hed H 10 U= &1 gig &1 ol § 3R gORt B9 & e H 1100 $UT Hi Jieg 1 oiTeit
g ) 3T Yed! 1 30T 3 : 5 8 | Holl BT RS Hed 1 /2

Options :

1. # 1800 ®UT, 2200 >UU

2. % 900 %UC, 1100 49T

3. % 2700 4T, 3300 >UU




4. % 1200 %UT, 2300 ¥UQ

Question Number : 99 Question Id : 54062619128 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sum of Rs. 67000 amounts to Rs. 87770 in 5 years at simple interest. What is the rate of interest?
Options :

1. # 6 percent

2. ¥ 6.2 percent

3. % 5.5 percent

4. % 7.2 percent

Question Number : 99 Question Id : 54062619128 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

THYTRUT 15T TR 5 a1 H 67000 TUT Pt AR 87770 TUT & SRISR & Sl & | TS &2 &7 82
Options :

1. % ¢ gfa=ra

2. ¥ 6.2 Ufa=d

3. % 5.5 Ofdrd

4. % 7.2 gfa=rd

Question Number : 100 Question Id : 54062619129 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Aniket borrows Rs. 8000 for 2 years at 3.5 percent p.a. simple interest. He immediately lends it to Kavish at 5.25 percent p.a. simple interest for 2
years. What is the gain of Aniket in this transaction?

Options :

1. ¥ Rs. 840
2. % Rs. 560
3. ¥ Rs. 280
4. % Rs. 380



Question Number : 100 Question Id : 54062619129 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3{f o d TR STl TR Widas 3.5 Uia=Td IR 2 a8 & Tl 8000 TUT IYR fordT| I8 qRA &1 5 HaIRT DI ATYRUT 7ol TR Widas 5.25
=T R 2 98 & ol IUR ¢ a1 | 59 AF-¢H & Sif-dvd &1 1 a1y g2

Options :
1. # 840 2>UU¢
2. % 560 >Uq
3. ¥ 280 20U
4. % 380 vUUl

Arithmetic Ability2
Group Number : 6
Group Id : 540626729
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No

Arithmetic Ability2

Section Id : 540626911
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20



Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 5406261100
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 54062619130 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

An amount of Rs. 500000 is split into 2 parts and each part is invested in two types of bonds. The first yields an interest of 8 percent p.a. and
second, 12 percent p.a. If the total interest on both the parts at the end of 1 year is 10.5 percent p.a., then what was the amount invested in each
type of bond?

Options :

1. ¥ Rs. 187500, Rs. 312500
2. % Rs. 200000, Rs. 300000
3. # Rs. 180500, Rs. 319500
4. # Rs. 240500, Rs.259500

Question Number : 101 Question Id : 54062619130 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

500000 TTT BT AR B 2 HIT H fTIHIRTT foba a1 8 IR Tdes UFT &l &l YR & aie H (a1 o a1 8 | Ugd aral Ufaas 8 ufa=rd &1
TS 3ffofd HaT & 3R GERT, Ufaay 12 U=Id &1 sa1el 3ifofd Sxar g1 afg 1 a8 & 3fd T GH1 YT IR &1 $d &re] Ufaay 10.5 WA= g,
0 IS UBHR & aie | (A% B TTs AT T o

Options :

1. % 187500 ®UC, 312500 ®UY
2. % 200000 YU, 300000 ®UT
3. % 180500 ®UU, 319500 >UU
4. % 240500 ®YC, 259500 ®UQ

Question Number : 102 Question Id : 54062619131 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Aashima lent Rs. 10000 to Prakash for 2 years compounded half yearly. At the end of 2 years she got Rs. 20736 from Prakash. Then, what is the
rate of interest p.a.?

Options :

1. # 8 percent
2. % 15 percent
3. % 20 percent
4. ¥ 40 percent

Question Number : 102 Question Id : 54062619131 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&n&%‘mﬁ&rmmmzaﬁémmooowwaﬁsmml2aﬁ$&mﬁ3®wﬁzo736wﬁﬁlﬁ,uﬁaﬁwa
1 5?

Options :

1. % g yfard

2. % 15 gfawrd

3. % 20 Ufaerd

4.+ 40 U=

Question Number : 103 Question Id : 54062619132 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Kanika travelled a distance of 54 Km in 10 hours. She travelled partly on foot at 3 Km/hr and partly by autorickshaw at 15 Km/hr. What is the
distance travelled by autorickshaw?

Options :

1. # 6 Km
2. % 15Km
3. ¥ 30 Km
4, % 24 Km

Question Number : 103 Question Id : 54062619132 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

BB 10 9 T 54 K B 2 T DT I MRS TUF 3 Kehe P17 TR Uerdd I Bt 3R 3AifRI6 Y 15 K/ DY A TR
ST I AT BT | SHTSINGR GRT T B TS g1 [ 572

Options :

1. % 6 Km

2. % 15 Km

3. ¥ 30 Km

4. % 24 Km

Question Number : 104 Question Id : 54062619133 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sarita goes to visit her client from her house at a speed of 20 Km/hr and returns at a speed of 25 Km/hr. If she takes 9 hours in going and coming,
then what is the distance between her house and her client?

Options :

1. ® 45 km

2. % 60 Km

3. % 85 Km

4. % 100 Km

Question Number : 104 Question Id : 54062619133 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

JRET 20 Km/hr 1 71T T 30 TR T 30 T8 I A STl 8 3R 25 Kin/hr &1 7110 J A0 317t 81 3 ST 39 3R oI # 9 °e oG,
I 3P R R IUD UGH b did i g3l T 672

Options :

1. % 45km

2. % 60 Km

3. % 85 Km

4. 100 Km

Question Number : 105 Question Id : 54062619134 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

The distance between two cities X and Y is 570 Km. A train starts from X at 10 PM and travels towards Y at 110 Km/hr. Another train starts
from Y at 11 PM and travels towards X at 120 Km/hr. At what time will they meet?

Options :

1. % 11:00 PM
2.9 1:.00 AM
3. % 2:00 AM
4. % 10:00 PM

Question Number : 105 Question Id : 54062619134 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&R X SR Y & &1 B G 570 km 81 TH IS X ¥ 10 3ORTE TR L= 8Iail 8 3R 110 Km/hr B A Y BT 3R TET Bl 61 GO
TS, Y ¥ 11 3ORIE W LF 81! § 3R 120 Km/hr BT (T T X BT 3R IET el 6 | o 997 TR 9 foreiio

Options :

1. ¥ 11:00 3WRTG
2. ¥ 1:00 [dT&

3. % 2:00Ydlg

4. % 10:00 3NRTq

Question Number : 106 Question Id : 54062619135 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Three men can make a certain number of cloth bags in 8 days by working for 6 hours a day. For how many hours in a day should two men work
in order to make thrice the number of bags in 24 days?

Options :

1. % 10 hours
2. % 8 hours
3. % 9 hours
4. % 7 hours



Question Number : 106 Question Id : 54062619135 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I S T fa T 6 U9 B b 8 a1 H U &1 Al &t U M e o911 9ehd & | 24 A1 H 971 &1 6= &1 i A1 §9F &
fom af srefial &1 foq d fora 9¢ i o1 a1ie®

Options :

1. % 104c

2. % 8¢

3. ¥ 9%C

4. % 79C

Question Number : 107 Question Id : 54062619136 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Shruti and Rohan undertake a project worth Rs. 88000. Shruti alone can do the work in 10 days. They work together for 4 days. After 4 days,
Rohan works alone for 4 days and Shruti completes the remaining work in 4 more days. What is the share of Rohan in the earnings?

Options :

1. % Rs. 70400
2. % Rs. 52800
3. #¥ Rs. 22600
4. ¥ Rs. 17600

Question Number : 107 Question Id : 54062619136 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y 3R A8 A 88000 TUT & T P Udh TRASHT TRH B1 & | 4 3ihal 10 T A FH X Al 813 4 T3 I Th AU FH IR 8 1 4
f&11 & qTe, 5 4 a1 & 1T Sfovet HTH BT § 3R Y 4 3R &I & AT HTH I QR-T Icll ¢ | 31 H g BT [T 71 57

Options :

1. ® 70400 ¥UY

2. % 52800 ¥UY

3. % 22600 3T

4. ¥ 17600 ¥UY




Question Number : 108 Question Id : 54062619137 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Alok can do a piece of work in 20 days. Biju can do the same work in 40 days and Pramod in 25 days. Alok and Pramod worked for 3 days and
handed it to Biju. Biju worked for some days and handed it again to Alok and Pramod 7 days before completing the work. For how many days
did Biju work?

Options :

1. # 9 days
2. % 6 days
3. % 5days
4. ¥ 4 days

Question Number : 108 Question Id : 54062619137 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3fTele 20 &1 & T BT o AhdlT § 1 815 40 ol H a8t B R vl § 3R UHIE 25 fol H ok Gabd &1 3HTelep SR UG A 3 fa=i a
HH T 3R I Sie &I AU 31| 9L $© &A1 ad S fohdT iR S R H=A 9 7 a7 uga fhr ¥ Saidh 3R TG &1 9ig faar|
o A b T dob S fobam

Options :

1. % ofgq

2. % 6faa

3. % 5feq

4.9 4fq

Question Number : 109 Question Id : 54062619138 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Kapila is two-third as fast as Vipul and Vipul is thrice as fast as Bhupen. If together they can complete a work in 15 days, then in how many days
can Kapila, Vipul and Bhupen each working alone do the work respectively?

Options :
1. ¥ 45 days, 30 days, 90 days
2. # 30 days, 10 days, 45 days



3. % 15 days, 5 days, 25 days
4. % 10 days, 5 days, 45 days

Question Number : 109 Question Id : 54062619138 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B Ay I <1-faers au & SR fagd YO | i 1 a1 ] 1 3 9y freeR 3 15 31 & Uep o R1 R bl ©, ) shivar, fagd &R
YU T 3l DHTH Hh HHR: fobaH ol J B1H Bl

Options :

1. ¢ 45 &7, 30 fa, 90 feA
2. % 30fa7, 10fem, 45 fea
3. % 15f¢9, sfa, 25 faA
4. % 10faq, 5faq, 45 faq

Question Number : 110 Question Id : 54062619139 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the surface area of a sphere is 1386 sq cm, then what is the volume of that sphere?
Options :

1. # 4386 cucm

2. % 4851 cucm

3. % 5623 cucm

4. % 5485 cucm

Question Number : 110 Question Id : 54062619139 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e T TMd BT Y¥TT 8% d 1386 sq cm &, O 39 TIIdl T I T 82
Options :

1. # 4386 cucm

2. % 4851 cucm



3. % 5623 cucm
4. % 5485 cucm

Question Number : 111 Question Id : 54062619140 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the volume of a cone is 254.34 cu cm and height is 12 cm, then what is the base diameter of the cone?
Options :

1. ®* 45cm

2. % 8cm

3.¥9cm

4. % 104 cm

Question Number : 111 Question Id : 54062619140 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IS Th AP BT AT 254.34 cu cm AR TS 12 cm 8, O [P BT YR T FT 62
Options :

1. * 45cm

2. % 8cm

3. 9cm

4. % 10.4 cm

Question Number : 112 Question Id : 54062619141 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A hollow cylindrical pipe is made of cement. The volume of cement used in the pipe is 3696 cu m. It's external radius is 10 m and length is 14 m.
What is the thickness of the pipe?

Options :
1. * 10m
2.¥% 6m

3. % 4m



4. % 2m

Question Number : 112 Question Id : 54062619141 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP WRIA dATBR UTSY e P a5 | T30 & Ugad HIHe &1 AET 3696 cu m €1 ST a1 F94T 10 m € SR @S 14 m g1 UTSU Bt
HIeTs 182

Options :

I.* 10m

2.% 6m

3. % 4m

4, % 2m

Question Number : 113 Question Id : 54062619142 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The following pie-chart shows the distribution of students of graduate level in eight different institutes. If the total number of graduate level
students is 23800, then what is the total number of graduate level students in institute W?



Distribution of students of
graduate level

Options :
1. ¥ 4998
2. % 2380
3. % 1666
4. % 5236

Question Number : 113 Question Id : 54062619142 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafoied urs-arc 31me fafts TRl § Ade WR & S & [GaR0l S GR1dT § | Afe H1dd TR & SHI &1 Hd TBAT 23800 8, T GRIH W
T HIdH TR & BHE DI Hl TS T g2




Options :
1. ¢ 4998
2. % 2380
3. % 1666
4. ® 5236

Question Number : 114 Question Id : 54062619143 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The following table gives the percentage of marks obtained by four students in four different subjects in an examination. What are the average
marks obtained by all the students in chemistry?



Subjects (Max. Marks)
e Maths [200) |[Chemistry (150)) Physics (150) 53:::21?3“]
Avneet 180 50 110 90
Kajal 100 a0 100 a5
Jannat 80 120 90 75
Alisha 150 100 120 80
Options :
1. ¥ 87.5
2. % 131.25
3. % 825
4. % 125.15

Question Number : 114 Question Id : 54062619143 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

@%WwﬁmﬁwﬁwﬁWﬁwwmwﬁmmﬁ%l gyt B gRT I fag © U $id 3idh
Hg?

forag (sifireaw o)
o O (200) T &3 (150) | WITAT (150) ﬁ:ﬁ?ﬂﬂj
EEEIT] 180 50 110 %0
COE 100 80 100 85
EEQ] 20 120 90 75
Gﬁﬁ‘!ﬂ 150 100 120 80
Options :
1.+ 875
2. % 131.25
3. % 825

4, % 125.15



Question Number : 115 Question Id : 54062619144 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The following table shows the population proportion of five villages and percent population that are below poverty line. If the population of the
village C is 40000, then what will be the population of village A below poverty line in that year?

: Propartion of % population below
Villages , 3
population poverty line
A 20% 40%
B 15% 54%
C 25% 60%
D 16% 30%%
E 24% 5%
Options :
1. ¥ 10000
2. % 11500
3. ¥ 18200
4. % 12800

Question Number : 115 Question Id : 54062619144 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaf@d drfcresT Uie Tiial ST ST BT SfguTd SR Ufrd SHEe 1 =il g Sl TWRiel @1 4 =it §1 3fe 7iid ¢ &1 ST 40000 B,
1 I Y H T71d A D1 fobeit SR TRIs Y@ | i g

: . T YT o A
it (TS BT U o Serigm &7 %

i 20% 40%

E 15% CA%

C 25% 60%%

D 16% 30%:

E 24% a5%

Options :



1. # 10000
2. % 11500
3. % 18200
4.+ 12800

Question Number : 116 Question Id : 54062619145 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The following pie chart shows the spendings of a country on all sports during a particular year. If the total amount spent on all sports during the
year be Rs. 720,000,000, then by what amount does spending on tennis exceeds spending on basketball?

Spendings of a country on various
sports

Football
25" 2

Options :

1. ¥ 50000000
2. ¥ 40000000
3. % 30000000
4. % 20000000

Question Number : 116 Question Id : 54062619145 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fafefead o ard te Ry a8 & SR Tt el R Ue <9 & W o) iar /1 afe 98 & SR Ot It R W ) 1 o Ay
720,000,000 TUT &, dl T R far w1 @, fpg I @ aRdbedra WR fpu 0 @ 3ifde g2

fafia |@af w 37 @ favar T =

Options :

1. ¥ 50000000
2. ¥ 40000000
3. % 30000000
4. % 20000000

Question Number : 117 Question Id : 54062619146 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The bar graph shows the sales of cell phones (in thousands) from four branches of a company during two consecutive years 2018 and 2019. What
is the average sales of all the branches (in thousands) for the year 2018?
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Branches of a company
Options :
1. ¥ 12
2. %20
3. % 18
4.9 15

Question Number : 117 Question Id : 54062619146 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR U1, & AR I8 2018 3R 2019 F SR TH HUHT D1 IR AT I I B (§OIRI H) B1 [9h1 Bl a=iiar g1 9y 2018 P forg Jaft
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Options :
1. % 12
2. %20
3. % 18
4.¥ 15

Question Number : 118 Question Id : 54062619147 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The following line graph shows the annual percent profit earned by a company during the period 2010-2015. If the expenditures in 2010 and
2015 are equal, then what is the ratio of the income in 2010 and 2015 respectively? [Profit percent = (Income - Expenditure) / Income x 100]



75

8 E 8 BE & B
IIIII
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g

Annual percent profit

=

2010 2011 2012 2013 2014 2015
Year

Options :
1. % 5:4
2.% 3:1
3.91:3
4. % 4:5

Question Number : 118 Question Id : 54062619147 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafIRad dga I 2010-2015 B 3@ P TR Th HUT gRT ST aTiies U= ATH &Y ST g1 A 2010 3R 2015 H 9T JAM &,
0 SHHRT: 2010 3R 2015 T T BT SIUTT FT 82 [ATH UTIRIT = (31T - F) / 3T x 100]
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Options :
1.% 5:4
2. %311
3.¥v1:3
4. % 4:5

Question Number : 119 Question Id : 54062619148 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The following line graph shows the exports from three companies from the year 2005 to 2010. Average annual export during the given period for
company B is what percent of the average annual exports for company C?
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Options :

1. ¥ 96.63 percent
2. % 71.66 percent
3. % 74.16 percent
4. # 91,66 percent

Question Number : 119 Question Id : 54062619148 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafarad s 9% 9 2005 2010 9% &F HuEr § Hafa o cwfd g1 Humt B & forg & 72 31afyy & SRM i arftfes fafa ot ¢
& for aird anftfes fafa &1 o= ufawra 82



2005 20086 2007 2008 2009 2010

Options :

1. ¢ 96.63 Ufa2Id
2. % 71.66 Ufa=Id
3. % 74.16 Ufa=rd
4. % 91,66 Ufard

Question Number : 120 Question Id : 54062619149 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The graph shows the foreign exchange reserves of a company (in $ hundred crore) from 2001-2002 to 2010-2011. What is the ratio of the number
of years, in which the foreign exchange reserves are above the average reserves, to those in which the reserves are below the average reserves?



Foreign exchangereserve (in hundred crore)

2001-2002 2002-2003 2003-2004 2004-2005 2005-2006 2006-2007 2007-2008 2008-2009 2009-2010 2010-2011

Year
Options :
1.%2:3
2.% 4:5
3.91:1
4. % 3:2

Question Number : 120 Question Id : 54062619149 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UM% 2001-2002 F 2010-2011 I Th HUT & ISR ToT & SRFAT HIR ($ W RIS H) Bl a=nia o | Ford oy # fac=h gar o1 smRfem Hsr
T HSR W SR 7, 39 ay & forg ford HeR, oid USSR ¥ = §Id1 &, S a8 &1 e BT SJTd &1 82
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Options :
1.%2:3
2. % 4:5
3.91:1
4. % 3:2
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Question Number : 121 Question Id : 54062619150 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

After the outbreak of the mutiny in (1)/ the Meerut, the rebels quickly reached the Delhi, whose 81-year-old Mughal (2)/ ruler, Bahadur Shah
Zafar, was declared the Emperor of Hindustan. (3)/ No Error (4)

Options :

1. # After the outbreak of the mutiny in

2. % the Meerut, the rebels quickly reached the Delhi, whose 81-year-old Mughal
3. * ruler, Bahadur Shah Zafar, was declared the Emperor of Hindustan.

4. % No Error

Question Number : 121 Question Id : 54062619150 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

After the outbreak of the mutiny in (1)/ the Meerut, the rebels quickly reached the Delhi, whose 81-year-old Mughal (2)/ ruler, Bahadur Shah
Zafar, was declared the Emperor of Hindustan. (3)/ No Error (4)

Options :

1. # After the outbreak of the mutiny in

2. ¥ the Meerut, the rebels quickly reached the Delhi, whose 81-year-old Mughal
3. # ruler, Bahadur Shah Zafar, was declared the Emperor of Hindustan.

4. % No Error

Question Number : 122 Question Id : 54062619151 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Biodiversity has not evenly distributed, rather (1)/ it varies greatly across the globe as (2)/ well as within regions. (3)/ No Error (4)
Options :

1. ¥ Biodiversity has not evenly distributed, rather

2. % it varies greatly across the globe as

3. % well as within regions.

4. ® No Error

Question Number : 122 Question Id : 54062619151 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Biodiversity has not evenly distributed, rather (1)/ it varies greatly across the globe as (2)/ well as within regions. (3)/ No Error (4)
Options :

1. ¥ Biodiversity has not evenly distributed, rather

2. % it varies greatly across the globe as

3. # well as within regions.

4. ® No Error



Question Number : 123 Question Id : 54062619152 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Erection of the first aircraft series formally started (1)/ in December 1992, but was suspended in November (2)/ 1995 due to political and
economic uncertainty. (3)/ No Error (4)

Options :

1. ¥ Erection of the first aircraft series formally started
2. # in December 1992, but was suspended in November
3. #* 1995 due to political and economic uncertainty.

4. % No Error

Question Number : 123 Question Id : 54062619152 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Erection of the first aircraft series formally started (1)/ in December 1992, but was suspended in November (2)/ 1995 due to political and
economic uncertainty. (3)/ No Error (4)

Options :

1. ¥ Erection of the first aircraft series formally started
2. # in December 1992, but was suspended in November
3. % 1995 due to political and economic uncertainty.

4. ¥ No Error

Question Number : 124 Question Id : 54062619153 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

The joining and eventual separation of Bentley and Rolls-Royce (1)/ following a series of mergers and acquisitions, to begin with (2)/ the 1931
purchase by Rolls-Royce of Bentley, then in receivership. (3)/ No Error (4)



Options :

1. #® The joining and eventual separation of Bentley and Rolls-Royce

2. ¥ following a series of mergers and acquisitions, to begin with

3. # the 1931 purchase by Rolls-Royce of Bentley, then in receivership.
4. % No Error

Question Number : 124 Question Id : 54062619153 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

The joining and eventual separation of Bentley and Rolls-Royce (1)/ following a series of mergers and acquisitions, to begin with (2)/ the 1931
purchase by Rolls-Royce of Bentley, then in receivership. (3)/ No Error (4)

Options :

1. # The joining and eventual separation of Bentley and Rolls-Royce

2. ¥ following a series of mergers and acquisitions, to begin with

3. # the 1931 purchase by Rolls-Royce of Bentley, then in receivership.
4. % No Error

Question Number : 125 Question Id : 54062619154 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Bicameralism is distinguished from unicameralism, (1)/ into which all members are deliberated and vote as a single group, and from some (2)/
legislatures that have three or more separate assemblies. (3) No Error (4)

Options :

1. #® Bicameralism is distinguished from unicameralism,

2. ¥ into which all members are deliberated and vote as a single group, and from some
3. # legislatures that have three or more separate assemblies.

4. % No Error

Question Number : 125 Question Id : 54062619154 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Bicameralism is distinguished from unicameralism, (1)/ into which all members are deliberated and vote as a single group, and from some (2)/
legislatures that have three or more separate assemblies. (3) No Error (4)

Options :

1. % Bicameralism is distinguished from unicameralism,

2. ¥ into which all members are deliberated and vote as a single group, and from some
3. % legislatures that have three or more separate assemblies.

4. ¥ No Error

Question Number : 126 Question Id : 54062619155 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

Nine men's morris is a strategy board game for two players (dated) at least to the Roman Empire.
Options :

1. ¥ dating

2. # dates

3. % date

4. % No Correction Required

Question Number : 126 Question Id : 54062619155 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

Nine men's motris is a strategy board game for two players (dated) at least to the Roman Empire.
Options :
1. ¥ dating



2. ® dates
3. # date

4. # No Correction Required

Question Number : 127 Question Id : 54062619156 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

The Babylonians took advantage of the (enough) of clay in Mesopotamia to create bricks.
Options :

1. % abundantly

2. % abundance

3. # abundant

4. # No Correction Required

Question Number : 127 Question Id : 54062619156 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

The Babylonians took advantage of the (enough) of clay in Mesopotamia to create bricks.
Options :

1. # abundantly

2. ¥ abundance

3. % abundant

4. # No Correction Required

Question Number : 128 Question Id : 54062619157 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

During the time period of ancient history; starting roughly from 3000 BC, the world population was already (fastly) increasing due to the
Neolithic Revolution, which was in full progress.

Options :

1. # languidly

2. % indolently

3. ¥ exponentially

4. # No Correction Required

Question Number : 128 Question Id : 54062619157 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

During the time period of ancient history; starting roughly from 3000 BC, the world population was already (fastly) increasing due to the
Neolithic Revolution, which was in full progress.

Options :

1. # languidly

2. % indolently

3. ¥ exponentially

4. % No Correction Required

Question Number : 129 Question Id : 54062619158 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

When the boy was asked about his report, he created (an usual) story about aliens stealing his work.
Options :
1. ¥ an outlandish



2. * a conservative
3. # atrivial

4. # No Correction Required

Question Number : 129 Question Id : 54062619158 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

When the boy was asked about his report, he created (an usual) story about aliens stealing his work.
Options :

1. ¥ an outlandish

2. % aconservative

3. #® atrivial

4. # No Correction Required

Question Number : 130 Question Id : 54062619159 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the appropriate word.

Procrastination is the avoidance of doing a task that needs to be by a certain deadline.

Options :

1. # incompetent
2. # perigee

3. % accomplished
4. # inept

Question Number : 130 Question Id : 54062619159 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the appropriate word.



Procrastination is the avoidance of doing a task that needs to be by a certain deadline.

Options :

1. # incompetent
2. # perigee

3. % accomplished
4. # inept

Question Number : 131 Question Id : 54062619160 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the appropriate word.

The MEQ is a self-assessment questionnaire developed by researchers James A. Horne and Olov Ostberg in 1976 to whether a
person's biological clock produces peak alertness in the morning, in the evening, or in between.

Options :

1. # extreme
2. % ignorance
3. ¥ measure

4, % gselfabase

Question Number : 131 Question Id : 54062619160 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the appropriate word.

The MEQ is a self-assessment questionnaire developed by researchers James A. Horne and Olov Ostberg in 1976 to whether a
person's biological clock produces peak alertness in the morning, in the evening, or in between.

Options :

1. # extreme
2. % ignorance
3. ¥ measure

4. % gelfabase



Question Number : 132 Question Id : 54062619161 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the appropriate word.

Ancient cloud studies were not made in , but were observed in combination with other weather elements and even other natural
sciences.

Options :

1. * accompanied
2. % jsolation

3. % group

4. % wholesome

Question Number : 132 Question Id : 54062619161 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the appropriate word.

Ancient cloud studies were not made in , but were observed in combination with other weather elements and even other natural
sciences.

Options :

1. # accompanied
2. ¥ isolation

3. % group

4. % wholesome

Question Number : 133 Question Id : 54062619162 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the appropriate word.

Wright studied civil engineering at the University of Wisconsin and then in Chicago with noted architects.
Options :



1. # absconded
2. ¥ apprenticed

3. % emancipated
4. # precluded

Question Number : 133 Question Id : 54062619162 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the appropriate word.

Wright studied civil engineering at the University of Wisconsin and then in Chicago with noted architects.
Options :

1. # absconded

2. % apprenticed

3. # emancipated

4. % precluded

Question Number : 134 Question Id : 54062619163 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

The new eight-litre

P: with their most expensive model,

Q: was such a success that when Barnato's money seemed to run out in 1931 and Napier
R: purchased Bentley Motors to prevent it from competing

S: was planning to buy Bentley's business, Rolls-Royce

the Phantom II.
Options :

1. ¥ QSRP

2. % PQSR



3. # SRQP
4. % RSQP

Question Number : 134 Question Id : 54062619163 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

The new eight-litre

P: with their most expensive model,

Q: was such a success that when Barnato's money seemed to run out in 1931 and Napier
R: purchased Bentley Motors to prevent it from competing

S: was planning to buy Bentley's business, Rolls-Royce

the Phantom II.
Options :

1. ¥ QSRP

2. % PQSR

3. # SRQP

4. % RSQP

Question Number : 135 Question Id : 54062619164 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

In August 2013,

P: procurements have been viewed as critical to maintain production
R: to be delivered during this period; foreign export

Q: it was proposed that France may halve the number of Rafales

S: to be delivered over the next six years for a total of 26 aircraft



under this proposal.
Options :

1. % PRSQ

2. % SPRQ

3. ¥ QSRP

4. % RPSQ

Question Number : 135 Question Id : 54062619164 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

In August 2013,

P: procurements have been viewed as critical to maintain production
R: to be delivered during this period; foreign export

Q: it was proposed that France may halve the number of Rafales

S: to be delivered over the next six years for a total of 26 aircraft

under this proposal.
Options :

1. % PRSQ

2. % SPRQ

3. ¥ QSRP

4. % RPSQ

Question Number : 136 Question Id : 54062619165 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a passage have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful passage.

In the Old Stone Age, food was obtained by hunting animals and gathering edible plants and tubers.



P: They used stone tools, hand-sized and flaked-off large pebbles for hunting animals.

Q: Pure quartzite is usually white to grey, though quartzites often occur in various shades of pink and red due to varying amounts of iron oxide.
R: Therefore, these people are called as hunter-gatherers.

S: Stone implements are made of a hard rock known as quartzite.

Other colors, such as yellow, green, blue and orange, are due to other minerals.
Options :

1. # QSPR

2. % SRQP

3. % RPSQ

4. ¥ PSRQ

Question Number : 136 Question Id : 54062619165 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a passage have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful passage.

In the Old Stone Age, food was obtained by hunting animals and gathering edible plants and tubers.

P: They used stone tools, hand-sized and flaked-off large pebbles for hunting animals.

Q: Pure quartzite is usually white to grey, though quartzites often occur in various shades of pink and red due to varying amounts of iron oxide.
R: Therefore, these people are called as hunter-gatherers.

S: Stone implements are made of a hard rock known as quartzite.

Other colors, such as yellow, green, blue and orange, are due to other minerals.
Options :

1. ¥ QSPR

2. % SRQP

3. % RPSQ

4. % PSRQ

Question Number : 137 Question Id : 54062619166 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Some parts of a passage have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful passage.

The Simla Agreement, or Shimla Agreement, was signed between India and Pakistan on 2 July 1972 in Shimla.

P: The agreement was ratified by the Parliaments of both the nations in the same year.

Q: It followed from the Bangladesh Liberation war in 1971 that led to the independence of Bangladesh, which was earlier known as East
Pakistan.

R: The agreement was the result of resolve of both the countries to "put an end to the conflict and confrontation that have hitherto marred their
relations".

S: It was signed in Shimla in India by Zulfigar Ali Bhutto, the President of Pakistan, and Indira Gandhi, the Prime Minister of India.

However, the agreement has not prevented the relationship between the two countries from deteriorating to the point of armed conflict, most
recently in the Kargil War of 1999.

Options :

1. ¥ QPSR
2. % RSPQ
3. % SQPR
4. % RPSQ

Question Number : 137 Question Id : 54062619166 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a passage have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful passage.

The Simla Agreement, or Shimla Agreement, was signed between India and Pakistan on 2 July 1972 in Shimla.

P: The agreement was ratified by the Parliaments of both the nations in the same year.

Q: It followed from the Bangladesh Liberation war in 1971 that led to the independence of Bangladesh, which was earlier known as East
Pakistan.

R: The agreement was the result of resolve of both the countries to "put an end to the conflict and confrontation that have hitherto marred their
relations".

S: It was signed in Shimla in India by Zulfigar Ali Bhutto, the President of Pakistan, and Indira Gandhi, the Prime Minister of India.

However, the agreement has not prevented the relationship between the two countries from deteriorating to the point of armed conflict, most
recently in the Kargil War of 1999.



Options :

1. ¥ QPSR
2. % RSPQ
3. ¥ SQPR
4. % RPSQ

Question Number : 138 Question Id : 54062619167 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is the opposite meaning (ANTONYM) to the word given below.

Antithesis
Options :

1. * Antipole
2. % Contrast
3. ¥ Similarity

4, % Review

Question Number : 138 Question Id : 54062619167 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is the opposite meaning (ANTONYM) to the word given below.

Antithesis
Options :

1. ¥ Antipole
2. % Contrast
3. ¥ Similarity

4, % Review

Question Number : 139 Question Id : 54062619168 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the word that is closest in meaning (SYNONYM) to the word given below.

Odious
Options :

1. # Congenial
2. ¥ Repugnant
3. % Copacetic

4. % Desiccant

Question Number : 139 Question Id : 54062619168 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is closest in meaning (SYNONYM) to the word given below.

Odious
Options :

1. ¥ Congenial
2. ¥ Repugnant
3. % Copacetic

4. % Desiccant

Question Number : 140 Question Id : 54062619169 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is closest in meaning (SYNONYM) to the word given below.

Bowdlerize
Options :

1. # Adulterate
2. ¥ Censor

3. % Crumble
4. #* Abuse



Question Number : 140 Question Id : 54062619169 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word that is closest in meaning (SYNONYM) to the word given below.

Bowdlerize
Options :

1. # Adulterate
2. ¥ Censor

3. % Crumble

4. % Abuse

Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

General English2

8
540626731
0

0

No

No

0

20

No

General English2

540626913
1

Online
Mandatory
16

16

20



Enable Mark as Answered Mark for Review and Clear Response : Yes
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Sub-Section Id : 5406261102
Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 54062619170 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is closest in meaning (SYNONYM) to the word given below.

Hubris
Options :

1. ®* Wealthy
2. % Dirt

3. * Humility
4. ¥ Arrogance

Question Number : 141 Question Id : 54062619170 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is closest in meaning (SYNONYM) to the word given below.

Hubris
Options :

1. ® Wealthy
2. % Dirt

3. * Humility
4. ¥ Arrogance

Question Number : 142 Question Id : 54062619171 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is the opposite meaning (ANTONYM) to the word given below.



Arcane
Options :

1. # Reticent
2. ¥ Common
3. % Dangerous
4. # Languid

Question Number : 142 Question Id : 54062619171 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is the opposite meaning (ANTONYM) to the word given below.

Arcane
Options :

1. # Reticent
2. % Common
3. % Dangerous
4. # Languid

Question Number : 143 Question Id : 54062619172 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ EMBARASSMENT

2. ¥ EMBARRASMENT

3. ¥ EMBARRASSMENT

4. ¥ EMBARASMENT

Question Number : 143 Question Id : 54062619172 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ EMBARASSMENT

2. % EMBARRASMENT

3. ¥ EMBARRASSMENT

4. ¥ EMBARASMENT

Question Number : 144 Question Id : 54062619173 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ MISELLANEOUS

2. # MISCELANEOUS

3. ¥ MISCELLANEOUS

4. ¥ MISCELLANOUS

Question Number : 144 Question Id : 54062619173 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ MISELLANEOUS

2. % MISCELANEOUS

3. ¥ MISCELLANEOUS

4. % MISCELLANOUS

Question Number : 145 Question Id : 54062619174 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :



1. * OCURRENCE

2. ® OCCURRANCE
3. ¥ OCCURRENSE
4. ¥ OCCURRENCE

Question Number : 145 Question Id : 54062619174 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ OCURRENCE

2. % OCCURRANCE

3. ¥ OCCURRENSE

4. ¥ OCCURRENCE

Question Number : 146 Question Id : 54062619175 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ PLAYWRITE

2. % PLAYWRIGHT

3. ¥ PLAYWHRITE

4. ¥ PLAYRIGHT

Question Number : 146 Question Id : 54062619175 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ PLAYWRITE

2. ¥ PLAYWRIGHT



3. ¥ PLAYWHRITE
4. % PLAYRIGHT

Question Number : 147 Question Id : 54062619176 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ LOGOREAH

2. ¥ LOGORHOEA

3. ¥ LOGORRHEA

4. ¥ LOGORHEA

Question Number : 147 Question Id : 54062619176 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ LOGOREAH

2. % LOGORHOEA

3. ¥ LOGORRHEA

4. % LOGORHEA

Question Number : 148 Question Id : 54062619177 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given phrase.

A little bird told me.
Options :
1. ¥ I was told by a private or secret source.

2. # I had a dream that I partly remember.



3. % The little but important things that were taught to me when I was young.
4. # 1 was taught an important lesson by my kid.

Question Number : 148 Question Id : 54062619177 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given phrase.

A little bird told me.

Options :

1. ¥ I was told by a private or secret source.

2. # T had a dream that I partly remember.

3. # The little but important things that were taught to me when I was young.
4. % ] was taught an important lesson by my kid.

Question Number : 149 Question Id : 54062619178 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given phrase.

A drop in the bucket.

Options :

1. # A ray of hope in bad times.

2. ¥ Very small and insignificant proportion of the whole.
3. # It is a metaphor for places with water shortage.

4. ® Being worthless is like being a drop in the bucket.

Question Number : 149 Question Id : 54062619178 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given phrase.

A drop in the bucket.



Options :

1. #® A ray of hope in bad times.

2. % Very small and insignificant proportion of the whole.
3. # It is a metaphor for places with water shortage.

4. ® Being worthless is like being a drop in the bucket.

Question Number : 150 Question Id : 54062619179 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given phrase.

A sledgehammer to crack a nut

Options :

1. #® To have a lot of options to fulfil a task.

2. # A person of very high stature. One who has a lot of people working under him.
3. ¥ To use disproportionate force or expense to overcome a minor problem.

4. #% A person performing a task against his demeanour.

Question Number : 150 Question Id : 54062619179 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given phrase.

A sledgehammer to crack a nut

Options :

1. # To have a lot of options to fulfil a task.

2. # A person of very high stature. One who has a lot of people working under him.
3. ¥ To use disproportionate force or expense to overcome a minor problem.

4. % A person performing a task against his demeanour.

Question Number : 151 Question Id : 54062619180 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the most appropriate meaning of the given phrase.

A fish rots from the head down.

Options :

1. ¥ What your started first, you must finish first.

2. ® The main reason for a failed relationship is lack of trust.

3. ¥ The leadership is the root cause, when an organization or state fails.

4. #® You must end what you started.

Question Number : 151 Question Id : 54062619180 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given phrase.

A fish rots from the head down.

Options :

1. # What your started first, you must finish first.

2. # The main reason for a failed relationship is lack of trust.

3. ¥ The leadership is the root cause, when an organization or state fails.

4. % You must end what you started.

Question Number : 152 Question Id : 54062619181 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word' for the expression given below.

A mender or maker of shoes and often of other leather goods
Options :

1. ® Leathersmith

2. % Husbandman

3. % Clodhopper

4. ¥ Cobbler



Question Number : 152 Question Id : 54062619181 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word' for the expression given below.

A mender or maker of shoes and often of other leather goods
Options :

1. # Leathersmith

2. # Husbandman

3. # Clodhopper

4. ¥ Cobbler

Question Number : 153 Question Id : 54062619182 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word' for the expression given below.

A politically organized community or major territorial unit ruled by a monarch.
Options :

1. # Compass

2. ¥ Realm

3. % Sovereign

4. % Avocation

Question Number : 153 Question Id : 54062619182 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word' for the expression given below.

A politically organized community or major territorial unit ruled by a monarch.
Options :

1. # Compass

2. ¥ Realm



3. % Sovereign

4. % Avocation

Question Number : 154 Question Id : 54062619183 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word' for the expression given below.

Military supplies including weapons, ammunition, combat vehicles, and maintenance tools and equipment.
Options :

1. ¥ Ordnance

2. % Panoply

3. ¥ Booty

4, % Accouterment

Question Number : 154 Question Id : 54062619183 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word' for the expression given below.

Military supplies including weapons, ammunition, combat vehicles, and maintenance tools and equipment.
Options :

1. ¥ Ordnance

2. % Panoply

3. % Booty

4. % Accouterment

Question Number : 155 Question Id : 54062619184 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word' for the expression given below.

The branch of philosophy concerned with the theory of knowledge.



Options :

1. ¥ Epistemology
2. % Atmology

3. % Seismology
4. # Polemology

Question Number : 155 Question Id : 54062619184 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word' for the expression given below.

The branch of philosophy concerned with the theory of knowledge.
Options :

1. ¥ Epistemology

2. % Atmology

3. % Seismology

4. # Polemology

Sub-Section Number : 2
Sub-Section Id : 5406261103
Question Shuffling Allowed : Yes

Question Id : 54062619185 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (156 to 160)
Read the following passage carefully and answer the given questions.

Spying is the act of obtaining secret or confidential information or divulging of the same without the permission of the holder of the information.
The practice is clandestine, as it is by definition unwelcome. Cut-outs are couriers who do not know the agent or case officer but transfer
messages. A safe house is a refuge for spies. Spies often seek to obtain secret information from another source.

A spy need not be a citizen of the target country—hence does not automatically commit treason when operating within it. While the more
common practice is to recruit a person already trusted with access to sensitive information, sometimes a person with a well-prepared synthetic
identity (cover background), called a legend in tradecraft. These agents can be moles (who are recruited before they get access to secrets),
defectors (who are recruited after they get access to secrets and leave their country) or defectors in place (who get access but do not leave)

In espionage jargon, an "agent" is the person who does the spying; a citizen of one country who is recruited by a second country to spy on or
work against his own country or a third country.



Spies may also be used to spread disinformation in the organization in which they are planted, such as giving false reports about their country's
military movements, or about a competing company's ability to bring a product to market.

Sub questions

Question Number : 156 Question Id : 54062619186 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is spying?

Options :

1. # Obtaining and divulging secret information without the permission of the holder of the information.
2. % Obtaining or divulging secret information without the permission of the holder of the information.
3. % Obtaining or hiding secret information with the permission of the holder of the information.

4. % Obtaining or divulging secret information of the holder of the information knowing about the divulgence.

Question Number : 157 Question Id : 54062619187 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the meaning of clandestine as used in the passage?
Options :

1. # Harassing

2. % Troublesome

3. ¥ Covert

4. # Magnanimous

Question Number : 158 Question Id : 54062619188 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

There are agents who are recruited after they get access to secrets. What are such agents called?
Options :

1. ¥ Defectors

2. % Defractors



3. ¥ Moles

4. % Dementors

Question Number : 159 Question Id : 54062619189 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is unique about espionage?

Options :

1. # The agent is necessarily committing treason.

2. # The agent and the recruiting organisation are from the same country.

3. % The agent is only contacted during times of tension between the countries and stays hidden the rest of the time.

4. ¥ The agent and the recruiting organisation are from different countries.

Question Number : 160 Question Id : 54062619190 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Based on the passage which of the following statements is incorrect ?
Options :

1. # Spies are used to spread disinformation in the organisation.

2. % A legend is an agent who has a well prepared synthetic identity.

3. ¥ Cut-outs are people who know the agent and transfer them messages.

4. ® Moles are agents who are recruited before they get access to secrets.

Question Id : 54062619185 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (156 to 160)
Read the following passage carefully and answer the given questions.

Spying is the act of obtaining secret or confidential information or divulging of the same without the permission of the holder of the information.
The practice is clandestine, as it is by definition unwelcome. Cut-outs are couriers who do not know the agent or case officer but transfer
messages. A safe house is a refuge for spies. Spies often seek to obtain secret information from another source.

A spy need not be a citizen of the target country—hence does not automatically commit treason when operating within it. While the more
common practice is to recruit a person already trusted with access to sensitive information, sometimes a person with a well-prepared synthetic
identity (cover background), called a legend in tradecraft. These agents can be moles (who are recruited before they get access to secrets),



defectors (who are recruited after they get access to secrets and leave their country) or defectors in place (who get access but do not leave)

In espionage jargon, an "agent" is the person who does the spying; a citizen of one country who is recruited by a second country to spy on or
work against his own country or a third country.

Spies may also be used to spread disinformation in the organization in which they are planted, such as giving false reports about their country's
military movements, or about a competing company's ability to bring a product to market.

Sub questions

Question Number : 156 Question Id : 54062619186 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is spying?

Options :

1. # Obtaining and divulging secret information without the permission of the holder of the information.
2. % Obtaining or divulging secret information without the permission of the holder of the information.
3. % Obtaining or hiding secret information with the permission of the holder of the information.

4. ® Obtaining or divulging secret information of the holder of the information knowing about the divulgence.

Question Number : 157 Question Id : 54062619187 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the meaning of clandestine as used in the passage?
Options :

1. ¥ Harassing

2. #® Troublesome

3. % Covert

4. ¥ Magnanimous

Question Number : 158 Question Id : 54062619188 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
There are agents who are recruited after they get access to secrets. What are such agents called?
Options :



1. ¥ Defectors
2. ¥ Defractors
3. ¥ Moles

4. % Dementors

Question Number : 159 Question Id : 54062619189 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is unique about espionage?

Options :

1. # The agent is necessarily committing treason.

2. # The agent and the recruiting organisation are from the same country.

3. % The agent is only contacted during times of tension between the countries and stays hidden the rest of the time.

4. ¥ The agent and the recruiting organisation are from different countries.

Question Number : 160 Question Id : 54062619190 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Based on the passage which of the following statements is incorrect ?
Options :

1. # Spies are used to spread disinformation in the organisation.

2. % A legend is an agent who has a well prepared synthetic identity.

3. % Cut-outs are people who know the agent and transfer them messages.

4. % Moles are agents who are recruited before they get access to secrets.
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Question Number : 161 Question Id : 54062619191 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fuferiRad Uy #, IR faeel 7 T, 39 fawey &1 99+ 3 & foba1 & Wi arer It faswed gl
=1 faenaa T die 3|

Options :

1. % QAPIaIdD fohdl
2. % QUM foma
3. % Ammyrg foean
4. ¢ Ggad feba

Question Number : 161 Question Id : 54062619191 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fFuferiRad Uy #, IR Al 7 T, 39 fadey &1 99+ B3 o foba1 & Wi arer It faswed gl
=1 faenaa T die S|

Options :

1. % QAPIaIdD fohdl
2. % QUM foma
3. % Ammyrg foban
4. ¢ GG T

Question Number : 162 Question Id : 54062619192 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
gyﬁ@ﬁmrﬁ,wﬁmq‘fﬁﬁ,wiamwmqw D Sl HIYD T 3T T e o AR AU U a1y & foIw s/ & e &1 Hgt fadbed
I

A g8 o1 T8} e (iifor) U8 qR v g |
Options :

1. % fqurdg

Question Number : 162 Question Id : 54062619192 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
gyﬁi@auaﬁ,wﬁmﬁﬁﬁ,wﬁwmwﬁ@ﬁwﬁﬁnmw%wﬁuww%ﬁw 3T F Ve, BT TE! fapey
I

T U8 B 18! BT (F1Th) T8 Hal Ui el

Options :




1. % fqurd

2. ¢ GHAGEIYD 3y
3. # fowmfdaiys sroqg
4. % GEYAIUD g

Question Number : 163 Question Id : 54062619193 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad we o, TR fawenl # 9, 39 fAdhed &1 907 B Sl HIgarad 91 &1 9g! f[dded 151 o |
Options :

1. #® deldl

2. ¥ qld

3. % HiYdr

4. % gl

Question Number : 163 Question Id : 54062619193 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy §, IR el 7 9, 39 f9hcd &1 987 &3 & HIddTad I3 T el fashed 78l B
Options :

1. % deldl

2. ¥ ql1d

3. % HiYdr

4. % gfafFfeda

Question Number : 164 Question Id : 54062619194 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFufafad g A, IR iwedl § T, I fawed &1 T &Y S 944 & He &1 Jg! fase gl
ST BT foeaT g1, 39T gioms farc|




Options :

1. % Sara®

2. % Aygaras
3. ¢ dYdah
4. % 3fAyTdrD

Question Number : 164 Question Id : 54062619194 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefed uy A, IR fowmeal 7 9, 39 faweu &1 997 &% S 991 & U &1 Jg! fased 81|
o1 1 s g, g afoms e

Options :

1. % [AS/dra®

2. % FAygdras
3. ¢ dYdh
4. % JfAygara®H

Question Number : 165 Question Id : 54062619195 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fufafad vy A, IR Awedl § T, 39 fawey o1 Tad B3 o faiwur & He arel faswey gl |
Fal H vy faendf SufRa g

Options :

1. % gd1HS

2. % YT gfHTor areres
3. ¢ [Afgd Samaras

4. % TUMATASD

Question Number : 165 Question Id : 54062619195 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fufafad uy A, IR fowedl § T, 39 faswey o1 Tgd B3 o faiwur & He arel fawey gl |
Fal H v faendf SufRa B

Options :

1. ® groHe

2. % 3ffAfYd ufAm a®
3. ¢ g Semara®

4, % UMD

Question Number : 166 Question Id : 54062619196 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafifed uy ©, IR fawcdl 8 9, 39 [9ded &1 997 Y S <RI Meg 1 Tgt [adbed gl
Options :

1. % TRaD!

2. % Hedllg

3. ¢ T

4. % Il

Question Number : 166 Question Id : 54062619196 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiad Uy & IR fobedl & T, 39 9 ey &1 999 B O SRS sk BT I f[db ey Bl
Options :

1. % AR

2. % Hcddlg

3. ¢ BT

4. % qd]

Question Number : 167 Question Id : 54062619197 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fAafeRad vy §, IR fasedl B 9, 39 fdded &1 9g- I ol faU U Weg & fo1T Tg! de=y 0 o faug &1 fawed 31|
IRGEEQYl

Options :

1. % 39 3R B
2. % R R
3. % fgg Y&

4. BA S BT

Question Number : 167 Question Id : 54062619197 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeRad vy #, IR fasedl | 4, 39 fahed &1 =90 B Sl {3T 7T Yeg & fo1T At deqey JH™ & 998 &1 fdbed 51|
IREEaYl

Options :

1. % 39 3R &
2. % fgA & o ST
3. % A

4. fGA S U

Question Number : 168 Question Id : 54062619198 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fufeiRad Uy #, IR Al 7 9, 39 fawed &1 999 B3 ol feT U Yeg BT aH U gl

T
Options :

1. ¢ TGY
2. % ToiA




3. % MyA
4. % Ty

Question Number : 168 Question Id : 54062619198 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fufeRad Uy #, IR Al 7 9, 39 fawed &1 999 B3 ol feT U Ueg BT aH U gl

T
Options :

1. ¥ TEH
2. % T
3. % TMYyH
4. % TY

Question Number : 169 Question Id : 54062619199 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafad vy &, IR fowddl 7 9, 39 fawey &1 9a 3 o) AT 17U Wee & vafgareh Wee &1 Ug! faswe 78t 3|
geft

Options :
1. % P
2. ¥ 2
3. % 3fsW
4. % GeR

Question Number : 169 Question Id : 54062619199 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofiad Uy & IR foedl ° T, 39 ey &1 Tg &1 O T U Wsg & TaiaT=! e o1 I8t [ddhey 781 g




Teft
Options :
1. %
2. ¥ D&

3. % 3fso
4. % WR

Question Number : 170 Question Id : 54062619200 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafafad uy 7, IR e & 3, 39 9wy &1 T B oY {3 e T a9 33T fAped g |
LE[

Options :
1. % OH
2. % &
3. ¢ Ul
4. % far

Question Number : 170 Question Id : 54062619200 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy §, IR eeal 7 9, 39 fahca &1 987 & ot fadiH Wsg &1 a9 331 faheu g |
LE[A

Options :
1. % 0F
2. % Yidd
3.9 YAl
4. % far



Question Number : 171 Question Id : 54062619201 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFfaRed Uy |, IR [adwedl 7 ¥, 39 g1 fddhed &1 999 H3 oIl A1ai o ol U Neg, &l [ddhed Bl |
&3 A A THHA

Options :
1. % dc¥y
2. % dRUY
3.9 39
4, % 3YdH

Question Number : 171 Question Id : 54062619201 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy &, IR ieeal 7 9, 39 I8! fadped &1 7 3 Sl a1 & ot U sg BT faped BT
Fs H I THAH

Options :

1. # dc¥
2. % qRUY
3.9 Y
4. % AHAgdH

Question Number : 172 Question Id : 54062619202 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFufafad vy 7, IR fawedl § T, 39 I8! fadw e o1 99+ 33 Ol faT 71U Reg & et 31 o1 IfId faweu gl
I

Options :

1. % 9R




2. % gt
3.« gigdl
4. ® foarn

Question Number : 172 Question Id : 54062619202 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefad uy A, IR foweal 7 9, 39 I8! fased &1 7 &3 SN foTu 7T Wreg & Tg) 31 &1 IfId fapeu 81
s

Options :
1. % 4R
2. % U
3. ¢ Ui
4. % foan

Question Number : 173 Question Id : 54062619203 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRed Uy & IR fawedl § 9, 39 el fawed &1 997 & S Rad RIF & o Iuged et &1 el [dbed 5
Tdferd WG gl g |

Options :
1. ¥ 3R
2. % AN
3. % YA
4. % 39

Question Number : 173 Question Id : 54062619203 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, aR fowedl & T, 39 98! fawed &1 99 &3 o Yad R & ot Iugad Wss &1 el fadhed g




Hgfad WRITR I g |
Options :

1. ¥ 3G

2. % 3ANA

3. % A

4. % 3

Question Number : 174 Question Id : 54062619204 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy , TR fawedl § 9, 39 fawe &1 999 &3 o Y Vs &1 Ta! [dbed 7
Options :

1. % S

2. ¥ Al

3. % SIqET

4. % SO

Question Number : 174 Question Id : 54062619204 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad vy o, TR fawet § 9, 39 fawey &1 7o &3 Sl Y e b1 Ta! fAwea 71
Options :

1. % ST

2. ¢ Al

3. % S

4, % ST

Question Number : 175 Question Id : 54062619205 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



frafeied us o, IR fadwedl O 9, 39 [dwed &1 7897 1 Al Y eg 1 ol [Ahed 5
Options :

1. % T

2. % AT

3. YA

4, % A

Question Number : 175 Question Id : 54062619205 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, TR fowedl § T, 39 fawed &1 999 &3 o Y sk &1 Ta! [dbed 7
Options :

1. % T

2. % =Tl

3. ¢ YA

4. % FAMI

Question Number : 176 Question Id : 54062619206 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafad vy 8, IR ol 7 9, 39 fdey &1 9a7 B3 o T T8 2reg & Famf 2reg o1 fawed 781 81

UHR
Options :
1. % 3YH
2. ¥ D
3. % goiA
4. % qrdt

Question Number : 176 Question Id : 54062619206 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fFofiafed uy §, IR el 7 9, 39 fowea &1 997 &% &Y feu 7T Weg & JHMIT Weg &1 faheu 781 B

UTHR
Options :
1. % 3AYH
2. ¥ qOd
3. % goH
I

Question Number : 177 Question Id : 54062619207 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad Uy o, aR fodwed! & 9, 39 98! fddwed &1 79 3 off 4T T Wea-H & 31 &1 ol fadhed |
TS 3R TS

Options :

1. % <7 3R Argl

2. % Tigih SR II™
3. % TS 3R o8

4. U9 3R HHCT

Question Number : 177 Question Id : 54062619207 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRad vy H, IR fowedl 7 9, 39 8! f[dded &1 99 & off [qU U Xea-H & 3 &1 gl [ddhed gl |

ST 3R AT
Options :

1. % 9 3R TrgT
2. % Tl R AI™
3. % IS AR &g




4.« T 3R HTHCd

Question Number : 178 Question Id : 54062619208 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed Uy &, IR et 7 9, 39 9 e &1 987 &Y oY Ted TWifell U arel faeed g |

Options :

1. % 30
2. % Y[l

3. ¢ SR
4. % fqe®

Question Number : 178 Question Id : 54062619208 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frafifead Uy 8, IR fasedl § O, 39 faded &1 999 &1 ol Ged WifelT ¥4 arell fddbed g

Options :

1. % I
2. % YIcl

3. ¢ §NR
4. % fqe®

Question Number : 179 Question Id : 54062619209 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frofefad vy &, IR fawedl § §, 39 fadwen &1 Tg9 & S Ud dgae- ea &1 Ta 331 fddhey 7

Options :

1. ¢ ToSH
2. % IREd



3. % dax
4. % g8l

Question Number : 179 Question Id : 54062619209 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefad vy o, TR fawenl § 9, 39 fadhey &1 T B S Yad dgad Usd &1 ol 331 fawed §1
Options :

1. ¢ oo

2. % YRAd

3. % 9

4. % ST

Question Number : 180 Question Id : 54062619210 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

?ﬁ@au&rﬁ,wﬁm@fﬁ@r,wﬁwmwﬁa‘rﬁwﬁﬁﬂmm%&aﬂwmwmﬂéﬂmmﬂaﬁmﬁw
I

Options :

1. % (3{19) HUT id g SR

2. ¢ (31 B I1d AT 89RT A g |

3. % () 9gd dooll 3T g! |

4. % (T Sed] SR ST g |

Question Number : 180 Question Id : 54062619210 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

WU&ﬁ,WﬁWﬁ@r,wf&mwmwﬂ ® ol BT U AT T e & TR 3= T3 drad Fa-TH BT Tay 35T f[dded
|

Options :
1. % (3{19) HUAI id §I ST




2. ¢ (3D R 91 AT gHRT B A B |
3. % () Igd ool 3T gT

4. % (H) e SHR AT R

Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Enable Mark as Answered Mark for Review and Clear Response :

Sub-Section Number :
Sub-Section Id :
Question Shuffling Allowed :

Question Number : 181 Question Id : 54062619211 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

General Hindi2

10
540626733
0

120

No

No

0

20

No

General Hindi2

540626915
1

Online
Mandatory
16

16

20

Yes

1
5406261105
Yes



Correct Marks : 1 Wrong Marks : 0.25

fFafRed Uy |, IR fadwedl 7 ¥, 39 fddhed &1 999 &2 o1 fGT TN 9190 & &1d &1 ol [dwed ol
ISEIREE

Options :

1. % YHTH JaaHDId

2. % JYTY HiqehTe

3. ¢ ATHIID TAHHBT
4. % AT YDA

Question Number : 181 Question Id : 54062619211 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fufeRad Uy H, IR Al 7 ¥, 39 fdded &1 999 &3 o) feT TN 9190 & &1d &1 ol fdwed gl |
ISIEIREE

Options :

1. % YU JaHHDId

2. % YT Yiasrepra

3. ¢ ATHIID TAHBTS
4. % 3T YabTd

Question Number : 182 Question Id : 54062619212 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, aR fowedl § 9, 39 fawey &1 999 &3 Sl foU T8 arag & fore gy & Y &1 9ad o1 fased ]
3R WRUe YIS e ST dt 3t Aiie 31 S|

Options :

1. ¢ Hbard
2. % Fgpd
3. % GHIGTY




4. % faemdf

Question Number : 182 Question Id : 54062619212 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefad vy o, TR fawet § 9, 39 faswey &1 7o &3 S fou T8 argy & e gf & e &1 9e o1 fdwed g |
3R WRUe HioH fHd ST df 33t Aiie o S|

Options :

1. ¢ Jhard
2. % e
3. % Furgd
4. % gy

Question Number : 183 Question Id : 54062619213 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy d, IR el 7 9, 39 fawcu &1 987 &% ot feT 7T are & folw uel & Ne &1 ey 331 [ 3|

3(d doh IYDT DBIH] ENIS Eﬁq\cbl %!
Options :

1. ® gdAaY®
2. % AgdEds
3. ¢ QUidEIa®
4. % IRHIYdH

Question Number : 183 Question Id : 54062619213 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy &, IR eedl 7 9, 39 fahcd &1 987 &% ot faU 7T 9/ & ol u&i & Ve 1 9a 331 faheu g |
3§ IF IIB] HIB! 3T 81 I g




Options :

1. % gradiy®
2. % fgdEds
3. ¢ QUiAEIa®
4. % IRHIYdH

Question Number : 184 Question Id : 54062619214 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRad oy & aR fawed # 9, 39 fadwed &1 78 &3 off g a1 T I 3T [ddhed 3|
Options :

1. % TR TS HERTS 3 W 98 1|

2. ¢ TR 1% HERIST 37 WR I3 Y|

3. % TRT TS HERTS 3H R &6 |

4. % TR TS HERIS 39 H# §6 M|

Question Number : 184 Question Id : 54062619214 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRed Uy & aR fawedl § 9, 39 fadmed &1 98 $1 off G a1 T JaY 3w [ddhed 5|
Options :

1. % TR TS AERIS 3 R 98 T

2. ¢ TR T HERIST 3 IR 96 7|

3. % IRTTS HERIS 3R IR 96 7|

4. % TR TS TERTS 319 & 93 MU

Question Number : 185 Question Id : 54062619215 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifad uy §, IR el 7 9, 39 fawca &1 97 &% St 9gl a1 U &1 fabeu gl




off TS} Bt GeTadl Bd © 9 YHfAT 8l
Options :

1. % Igod a1

2. ¢ Ty gty

3. % Yogdrad arag

4. % TR dIH

Question Number : 185 Question Id : 54062619215 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foffed uy §, IR fiwedl 7 9, 39 faweu &1 997 &% St 9gl a1a U &1 fabeu gl
ol RIS BT TgTdT HYd & 3 YA B B

Options :

1. % ggad I

2. Ty a1y

3. % Jogarad diag
4. # IRA dH

Question Number : 186 Question Id : 54062619216 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fufoRad Uy |, IR fadeul 7 ¥, 39 fdwed &1 999 &3 1l ol d1ad He &l f[ddbed gl
Y IR el iR & Rd W A 7d T2

Options :

1. % fqyHaras a1
2. % A I

3. % fyy /g

4. ¢ GYId a1



Question Number : 186 Question Id : 54062619216 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy §, IR el 7 9, 39 fawca &1 997 &% St 9gl a1 U &1 fabeu gl
I AR e 3R a1l id R ¥ 9 TST|

Options :

1. % faymdras a1
2. % A IR

3. % Oy arey

4. ¢ g a1

Question Number : 187 Question Id : 54062619217 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRad vy 9, IR fosedl T 9, 39 fdeed &1 9a- 3 ol faR1 Fag gad a1 &1 Iel fabed |
Options :

1. % IO - RA! 39 g fean, Ssh IRl &1 gToR a1 1"

2. % O, BIRA-3Y g e, r<mafh IRY & gIforR HRI |

3. ¢ IOl A BRA 39 g &, "Siefl IRl &1 gIfoR 11"

4. % ST H-RA 39 g T, <isf IRl &I gIfor &

Question Number : 187 Question Id : 54062619217 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferRed Uy o, IR fadbedl # 4, 39 fadb ey &1 98 D ol favH g ot aTe’d &7 Hal [dehed Bl
Options :

1. % RIS A R I god T, ssih IRi &1 gIoR B

2. % I, HRA-3Y g &, <sfh IRI & gIoR FHRI |

3. ¢ XToT A R 39 g o, "Siefl IRl & gIfoR 11"

4. % ST -HRA 39 g foa, r<mefl IRY &1 g1oR Hri




Question Number : 188 Question Id : 54062619218 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferRed Uy o, IR fadedl # 9, 34 fddb ey &1 9g &3 oif foxTH g gord are’) o1 gl [dehed o1 |
Options :

1. % I Ul T YT, 7 TS e IR H DA aed 3R 90l gard fireht off, fom! g g feame
2. % I Ul T YBT, T 3T TR IR T DI a¥d 3R v gaTd fiyeft off, St qom gaswr feamie
3. % 3 Ufd T UDT R TS T IR H DA aved 3R 9ol gamd fireht ot ! g gt fean e
4. 39 U T YT, "7 3171 IR R H 1 axd 3R ¥quf gard el o, fomen! gom g feame

Question Number : 188 Question Id : 54062619218 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad Uy 4, aR fawed! & 4, 39 fdewed &1 99+ &3 ol TR fug god are &1 9a! fdwbed 31|
Options :

1. % I Ui T YT, 37 3Tl gie IR H I 9 R Tauf gamd et o, fomeet g gy fame
2. % I Ufd ¥ BT, T TS The Il H D IAch aedl SR ol GaTd fireht o, it goe g fean
3. % I U] I UBT T TS e IR H DA aed 3R 9ot gard fireht ot o) g g fean
4. ¢ I U T YT, "1 TS The IR A 1A aed 3R 9ot gamd et off, foren! g gt feam:

Question Number : 189 Question Id : 54062619219 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy 4, aR fawed & 9, 39 fdeed &1 99+ &3 ol faR1 g god are o1 9al fdsbed 31|
Options :

1. ¥ 3ToT SUTA ¢d He-He YegRId gu ard, " WTs, T qxn A A At IR T8 8, TR e g 1"

2. % RIS QU &d He He FRHI gU arel, " |7, U &= & J At R 81 ¢, R 81

3. % S U &4 He, He TXTd gU ald, " 4TS, YT = H A At IR AT §, TR e 81"

4. % RS QUTET 49 Ha-He PRI U SN, " TS, U1 3201 7 3 A R 781 8, FBR &1 62

: No Option

: No Option

: No Option



Question Number : 189 Question Id : 54062619219 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferRed Uy &, IR fadedil # 9, 39 fddb ey &1 9g- D ol favH g ot a1’y &1 Hgl [dehed 81|
Options :

1. ¢ ST 0TS &9 He-He TR gu e, " 11S, TR = A A it ] T8 8, TR S g 1"

2. % RIS IUTH &d He He HIHRIA gU AT, " HTS, U Sxn o A Al IR 61 €, TR e g1

3. % RO GUTA ¢d He, He JHId gU aid, " HTs, Tl a=n & A At IR 81 8, TeR Bl g 1"

4. % T T g He-Fe TP gL AT, * HiS, T cxn H A AH N A8, Fer a1 2

Question Number : 190 Question Id : 54062619220 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad ue o, TR fawent § 9, 39 fawey &1 7o &3 S fou 78 eTar &1 Iet o aran fawea 7
10T o T7d BT

Options :

1. % yqfid g

2. ¢ 7 e 31

3. % MY g gl

4. % gith &4 Sl

Question Number : 190 Question Id : 54062619220 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaa uy & IR fawe # ¥, 39 fawe &1 7 o3 off fau 7T Yerer o1 I8t o aran fawe 21
T0T ST BT

Options :

1. % ygiid g

2. ¢ g (e 31T

3. % MY B gl




4. % Hth o< Sl

Question Number : 191 Question Id : 54062619221 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed oy & aR fawedl § 9, 39 fadmed &1 7a &1 off fU T8 gTer &1 Tet o arar fawey g |
3 R aE &1

Options :

1. % BT G

2. % gHS TR B

3. ¢ SN USRI BT
4. % T HIAT

Question Number : 191 Question Id : 54062619221 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoiaa oy & o fawe # ¥, 39 fawed &1 7 &3 off U 7T Yerear &1 Tet o aran fawey g

031 IR drd &l

Options :

1. % P @

2. % YUS I HAI

3. ¢ T UefRid BT
4. % UgF HIAI

Question Number : 192 Question Id : 54062619222 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRed oy & IR fawedl § 9, 39 fadmed &1 7a &1 off U T gTer &1 Tet o arar fawey g
IRl




Options :

1. % qXd ol B
2. % YIgT T 3R
3. ¥ 9gd YR Wil
4. % TS gl ST

Question Number : 192 Question Id : 54062619222 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e uy & IR fawe # 9, 39 fawey &1 7 &% off fau 7T erer o1 98t o aran fawe g
3T DI TR

Options :

1. % q3d % e

2. % YIST T 3R

3. ¥ 95 YR Tl
4. % TS I ST

Question Number : 193 Question Id : 54062619223 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy §, IR Reedl 7 9, 39 9w cd &1 987 &3 oY < 715 Aibifad &1 Tat 31 arett faweu g1
319 HEd WY g1 gt

Options :

1. % THIId R gEd 3

2. ¢ AGHAT Y A HH DI U BT
3. % g SgaT

4. % H1H foms

Question Number : 193 Question Id : 54062619223 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy §, IR Reedl 7 9, 39 fdwca &1 987 &3 oY < 715 Aibifad &1 Tat 31 arett faweu g1
319 HEd WY g et

Options :

1. % GHIId W gEd 3

2. ¢ AGHAT Y A HH DI U BT
3. % g SgaT

4. % o1 foms

Question Number : 194 Question Id : 54062619224 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofiad uy & IR foeedl ° T, 39 ey &1 Ta &1 ot <1 71 dipifad &1 Tet 3 arar ey g
P forar Q@ p1H, Y foran 9 vH

Options :

1. ¢ 3R B BT FS  7Tad e gral
2. % 3=y B BT YNUMH 33T 81 8l §
3. % 99 {37 U qHA 6T 81 ©

4. % @ Y H1H T B

Question Number : 194 Question Id : 54062619224 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy §, IR Reedl 7 9, 39 9w cd &1 987 &3 oY < 715 Albifad &1 Tat 31 arett fawbeu g1
P o O p1H, Y foram 91 vH

Options :
1. ¢ 3R DB D $& Ul gdad 6] gidl
2. % 3= B BT TRV 33T & eIl 3

3. % 99 A U6 9H T8l B1d §




4. % @ Y S A B

Question Number : 195 Question Id : 54062619225 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed gy &, IR et 7 9, 39 f[dhcd &1 987 B3 oY <1 718 Albiiad 1 Tat 31 arell fabeu g1
HTH B! BT R@rar g

Options :

1. % $B B R PD I

2. ¢ 3G P I8 T 3TeHl BIRMR 8 SraT 8
3. % Hgwd Gl

4. % 3FU¢ Afad

Question Number : 195 Question Id : 54062619225 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy &, IR Reeal 7 9, 39 fdwea &1 987 &3 St < 715 Aipifad &1 Tat 31 arett fawbeu g1
BT B HH @ g

Options :
1. % $© hed R HS G

2. T B I8 T SATSH BIRIR g1 ST §

3. % g A el

4. % 3ug Afaq

Sub-Section Number : 2
Sub-Section Id : 5406261106
Question Shuffling Allowed : Yes

Question Id : 54062619226 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (196 to 200)



fafeRad Taiw @ eFgde ufeu 3R fau mu us & IR |

HTd g H AT BT TP Aed g | AT H 30 faddd bl 11 I2ed ud ufaffd a9 &1 Hia=1 fAfgd gt g |
SO R, 15, ITE 17E 0N BT S Bl § Sl Siia B A DT HFT TR Bl & | STETH BT Hia1 § quf Afeky Howl &1 Rarg
Te! Rl § SR B faww uRfRUfq § cae AT 8| TY Jfad Siia- H IR/ &1 Hg a1 a@d auT FHRaR T2 &t Uit $Rd & | ST
fad 4, T, =1g 3R A & TY BT SITHA Bl & | ISP Sita A g1 T & R ifd &1 a7 gial § | WIUSR, ST o H1f &
3GP! BFI Bt B | Aepfiraar ol aramiore ufasT 3 Tew € U gt 8 1 U e § o I & i w=h fAgT gt § aun arqyfiy &t
AT & forT 98 319 1ol ol I =l H 1 T B Sgufd BT 8 | b ST fe SO ST GURI DT ST BT g DAl
URiG Ta! HRdT &, THIAIY 8 SW1-g W SRl HTaHT3{l ¥ Had g HIFd A B 30+ IRAR &1 3T AHAT ] |

Sub questions

Question Number : 196 Question Id : 54062619227 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3G & IR A Siiad § AT BT F1 75 67
Options :

1. % 39 Sa-fd &1 ATl §

2. % HH Sila B RO ©

3. % 39 fouy ufkfufoat g

4. ¢ 3GH AfRId D) I T4 U S99 B WG ]

Question Number : 197 Question Id : 54062619228 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

STATH ¥ IR fdd & T ST § T g1 STl g2
Options :

1. % Tgal

2. % U

3. ¥ BT 3R HHISD HH-GHH

4. % Favquf Sfia=

Question Number : 198 Question Id : 54062619229 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
ST SAfad BT G131 ¥ Jad 384T 82

Options :

1. % yd I, O™
2. ¥ WG

3. % RIS

4. % {lgd, 348

Question Number : 199 Question Id : 54062619230 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

STH 9 DI - 91 Yot UAFT 1 Waigare] 2sg e 52
Options :

1. ¢ gfg

2. % {[U-

3. % ogNld

4, % JHA

Question Number : 200 Question Id : 54062619231 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Y 3G DI DIy IUY MNP
Options :

1. % fouy gifRufa

2. % 9 AR ifd

3. ¢ 3MHATIYTY 1 Al

4. % @B AP

Question Id : 54062619226 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (196 to 200)



fafeRad Taiw @ eFgde ufeu 3R fau mu us & IR |

HTd g H AT BT TP Aed g | AT H 30 faddd bl 11 I2ed ud ufaffd a9 &1 Hia=1 fAfgd gt g |
SO R, 15, ITE 17E 0N BT S Bl § Sl Siia B A DT HFT TR Bl & | STETH BT Hia1 § quf Afeky Howl &1 Rarg
Te! Rl § SR B faww uRfRUfq § cae AT 8| TY Jfad Siia- H IR/ &1 Hg a1 a@d auT FHRaR T2 &t Uit $Rd & | ST
fad 4, T, =1g 3R A & TY BT SITHA Bl & | ISP Sita A g1 T & R ifd &1 a7 gial § | WIUSR, ST o H1f &
3GP! BFI Bt B | Aepfiraar ol aramiore ufasT 3 Tew € U gt 8 1 U e § o I & i w=h fAgT gt § aun arqyfiy &t
AT & forT 98 319 1ol ol I =l H 1 T B Sgufd BT 8 | b ST fe SO ST GURI DT ST BT g DAl
URiG Ta! HRdT &, THIAIY 8 SW1-g W SRl HTaHT3{l ¥ Had g HIFd A B 30+ IRAR &1 3T AHAT ] |

Sub questions

Question Number : 196 Question Id : 54062619227 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3G & IR A Siiad § AT BT F1 75 67
Options :

1. % 39 Sa-fd &1 ATl §

2. % HH Sila B RO ©

3. % 39 fouy ufkfufoat g

4. ¢ 3GH AfRId D) I T4 U S99 B WG ]

Question Number : 197 Question Id : 54062619228 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

STATH ¥ IR fdd & T ST § T g1 STl g2
Options :

1. % Tgal

2. % U

3. ¥ BT 3R HHISD HH-GHH

4. % Favquf Sfia=

Question Number : 198 Question Id : 54062619229 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
ST SAfad BT G131 ¥ Jad 384T 82

Options :

1. % yd I, O™
2. ¥ WG

3. % RIS

4. % {lgd, 348

Question Number : 199 Question Id : 54062619230 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

STH 9 DI - 91 Yot UAFT 1 Waigare] 2sg e 52
Options :

1. ¢ gfg

2. % {[U-

3. % ogNld

4, % JHA

Question Number : 200 Question Id : 54062619231 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Y 3G DI DIy IUY MNP
Options :

1. % fouy gifRufa

2. % 9 AR ifd

3. ¢ JTHTIYTY DT Hel

4. % @B AP




